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Question Label : Comprehension

Study the data in the given table and answer the questions that follow

The table below embodies data on the number of students who appeared (A) and passed (P)
in a competitive examination from four different zones (K, L, M and N) during the year 2014 to
2019.

Yearl | Zone— = = = =
A P - P A P A P
2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

Sub questions

Question Number : 1 Question Id : 2105299069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between the total number of students who appeared in the exam and
the total number of students who passed in the exam from Zone-K in all the six years taken
together?

1. 2060

2. 2070

3. 2080

4. 2090
Options :
21052935601. 1
21052935602. 2
21052935603. 3
21052935604. 4

Question Number : 2 Question Id : 2105299070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What is the average number of students who passed in the exam from all the four Zones in the
year 20157

1. 528

2. 529

3. 530

4. 531

Options :
21052935605. 1
21052935606. 2
21052935607. 3
21052935608. 4

Question Number : 3 Question Id : 2105299071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For which of the following Zones, the percentage of students who passed out to the total
of those who appeared in the examination is minimum in the year 20197

1. K
2L
3. M
4. N

Options :

21052935609. 1
21052935610. 2
21052935611.3
21052935612. 4

Question Number : 4 Question Id : 2105299072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What is the ratic of the number of students who passed from Zone-K in the year 2017
compared to that in 20187

1.7:5

2. 35

3.5:7

4. 5:3

Options :
21052935613. 1
21052935614.2



21052935615. 3
21052935616. 4

Question Number : 5 Question Id : 2105299073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The total number of students who passed from Zone-M in all the six years taken together is
approximately what percentage of the total number of students who appeared from Zone-M
in all the six years taken together?

1. 56%

2. 58%

3. 60%

4. 64%
Options :
21052935617. 1
21052935618. 2
21052935619. 3
21052935620. 4

Question Id : 2105299068 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension

e €1 T AIfereeT | 99 2014 H 2019 T F R IR T FET (K, L M 3R N) T fEeht
ufean®t odten & wfie g0 (A) 3R 301 2 (p) faenfRia =1 erieer o wan &1 anfereeT &
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2014 782 360 612 310 720 410 1020 BO2
2015 B0g 472 608 324 728 480 1135 B0
2016 720 448 6356 288 6RO 350 1084 Bga
2017 750 360 B55 305 B35 356 1096 766
2018 824 504 540 346 712 A24 1180 752
2019 850 498 B0 315 740 464 1165 T8O

Sub questions

Question Number : 1 Question Id : 2105299069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
ot S5 aul & fiems o - K 9 wer | =i gu faenfial o oo 9@ ok 3 gu feanfiat
@l Pa 9 I fhar Sfae 8 7

1. 2060

2. 2070

3. 2080

4. 2090
Options :
21052935601. 1
21052935602. 2
21052935603. 3
21052935604. 4

Question Number : 2 Question Id : 2105299070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ay 2015 ¥ gt IRl SHT ¥ wien # 3ol gu fqenfial o1 sid ge fadi ¢ 7

1. 528

2. 529

3. 530

4. 531
Options :
21052935605. 1
21052935606. 2
21052935607. 3
21052935608. 4

Question Number : 3 Question Id : 2105299071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gy 2019 H fFgfeied o € g o o udien o wfia gHard fgeanfdal &1 gomr = S gHar
faential o uideddr a9 § ?

1. K

2. L

3. M

4. N

Options :
21052935609. 1
21052935610. 2
21052935611. 3



21052935612. 4

Question Number : 4 Question Id : 2105299072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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e
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5
4.5:3
Options :
21052935613. 1
21052935614.2
21052935615.3
21052935616. 4

[Ty

Question Number : 5 Question Id : 2105299073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o @5 qul 4 SF - M Il [genfial o oo T S oaf & GRE §iF - M 3 e H
N g faenfial & oo 9 &1 B9 [ Uia=id © 2

Options :

21052935617. 1
21052935618. 2
21052935619. 3
21052935620. 4

Sub-Section Number : 2
Sub-Section Id : 210529349
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105299074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify those teaching strategies which are learner-centred
A. Cooperative learning

B. Team teaching

C. Laboratory based projects

D. Pair-share discussions

E. Lecturing with PowerPoint presentations

Choose the correct answer from the options given below:

1. A B and C only
2. B, C and D only
3. A, Cand D only
4. C, D and E only
Options :
21052935621. 1
21052935622. 2
21052935623. 3
21052935624. 4

Question Number : 6 Question Id : 2105299074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1.$adAA, B 3R C
2. Haa B, C AR D
3. HaAA, C3RD
4.$9dC DIARE

Options :



21052935621. 1
21052935622.2
21052935623. 3
21052935624. 4

Question Number : 7 Question Id : 2105299075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Reflective level teaching is different from memory level teaching because the pattern of
communication that is invalved in refective level teaching is basically

1. Linear

2. Bottom-up
3. Interactional
4. Transactional
Options :
21052935625. 1
21052935626. 2
21052935627. 3
21052935628. 4

Question Number : 7 Question Id : 2105299075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935625. 1

21052935626. 2

21052935627. 3
21052935628. 4

Question Number : 8 Question Id : 2105299076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



From the following, identify those features which are associated with 'Indirect Instructional
Strategies’

A. Guided student practice

B. Focus on concept acquisition through question-answer sessions
C. Presenting the stimulus material in small, easy to take steps

D. Problem based presentation

E. Participatory and collaborative moves stressed

Choose the correct answer from the options given below:

1. B, D and E only
2. A, B and Conly
3. B, Cand D only
4. C, D and E only
Options :
21052935629. 1
21052935630. 2
21052935631. 3
21052935632. 4

Question Number : 8 Question Id : 2105299076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935629. 1
21052935630. 2
21052935631. 3
21052935632. 4

Question Number : 9 Question Id : 2105299077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following assessment procedures is conducted during an in-progress
teaching-learning session?

1. Summative

2. Formative

3. Norm-referenced

4, Criterion-referenced

Options :

21052935633. 1
21052935634. 2
21052935635. 3
21052935636. 4

Question Number : 9 Question Id : 2105299077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YaaaH (1) FRI&0r - SRR Al & GRE DIH-Y1 3 WishaT Y-l &l § ?

1. GBI ED
2. fATES
3. OF® Gaftla
4, faoy ggfifg

Options :

21052935633. 1
21052935634.2
21052935635. 3
21052935636. 4

Question Number : 10 Question Id : 2105299078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The use of ICT in organizing teaching-learning programmes in the universities
has the potential to optimise learning ocutcomes

Statement II: Formative assessment provides support to enhancing the quality of teaching-
learning sessions

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052935637. 1

21052935638. 2

21052935639. 3

21052935640. 4

Question Number : 10 Question Id : 2105299078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935637. 1

21052935638. 2

21052935639. 3

21052935640. 4

Question Number : 11 Question Id : 2105299079 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify sampling procedures in which units are chosen giving an equal and independent
chance

A. Quota sampling procedure

B. Stratified sampling procedure

C. Dimensional sampling procedure

D. Random sampling procedure

E. Systematic sampling procedure

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C, D and E only
4. B, D and E only

Options :

21052935641. 1
21052935642. 2
21052935643. 3
21052935644. 4

Question Number : 11 Question Id : 2105299079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935641 1
21052935642. 2
21052935643. 3
21052935644 4

Question Number : 12 Question Id : 2105299080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Qualitative research paradigm emphasizes participant perspectives and uses an
empirico-inductive approach

Statement II: In the same research project, it is neither possible nor desirable to use both
Qualitative and Quantitative research paradigms

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct
Options :

21052935645. 1



21052935646. 2
21052935647. 3
21052935648. 4

Question Number : 12 Question Id : 2105299080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935645. 1

21052935646. 2

21052935647. 3

21052935648, 4

Question Number : 13 Question Id : 2105299081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The research method which focuses on establishing causal relationships with contrels among
variables - independent, moderator and dependent, is called

1. Ex post facto method
2. Survey method

3. Case study method
4. Experimental method
Options :

21052935649. 1
21052935650. 2
21052935651. 3
21052935652. 4



Question Number : 13 Question Id : 2105299081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a7, aeie SR e TR & O a0 R SRUTES Je68 T &34 IR diad Ty
Uid $eard 6 ;

1. PO UG

2. GA&U UGl

3. AP T Ugia
4, TS UGia
Options :
21052935649. 1
21052935650. 2
21052935651. 3
21052935652. 4

Question Number : 14 Question Id : 2105299082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the characteristic features of the Quantitative Research paradigm?
A. It is hypothetico-deductive

B. It is focused on natural settings

C. It lays stress on generalizations to the population characteristics

D. It emphasizes numeric data from a large number of people

E. It says that the literature review plays a minor role but justify the problem
Choose the correct answer from the options given below:

1. A, C and D only
2. A B and C only
3. B, C and D only
4.C, D and E only
Options :
21052935653. 1
21052935654. 2
21052935655. 3
21052935656. 4

Question Number : 14 Question Id : 2105299082 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052935653. 1
21052935654. 2
21052935655. 3
21052935656. 4

Question Number : 15 Question Id : 2105299083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What is the usual sequence of steps in the scientific method?
A. Hypothesis making by identifying the variables

B. Felt need which is creating the problem

C. Identifying the difficulty and problem statement formulation
D. Data analysis and interpretation

E. Collection of data using appropriate research tools

Choose the correct answer from the options given below

1.A,C,B D E
2B, CAED
3.CD,EBA
4B A CED
Options :

21052935657. 1
21052935658. 2
21052935659. 3
21052935660. 4

Question Number : 15 Question Id : 2105299083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1.A,C B D,E
2B, CAED
3.CD,EBA
4B A CED
Options :

21052935657. 1
21052935658. 2
21052935659. 3
21052935660. 4

Question Number : 16 Question Id : 2105299084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In communication, interpretation of the message depends upon

1. The context

2. Transmission speed
3. Associated noise

4. Channel efficiency
Options :
21052935661. 1
21052935662. 2
21052935663. 3
21052935664. 4

Question Number : 16 Question Id : 2105299084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935661. 1
21052935662. 2
21052935663. 3
21052935664. 4

Question Number : 17 Question Id : 2105299085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors are important in communication?
A. Slang

B. Cynical attitude

C. Framing

D. Priming

E. Immediacy

Choose the correct answer from the options given below:

1. A B and C only
2. B, C and D only
3. A, D and E only
4.C, D and E only
Options :
21052935665. 1
21052935666. 2
21052935667. 3
21052935668. 4

Question Number : 17 Question Id : 2105299085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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2. ®aa B, C3RD
3. HaaA DIRE
4.$adC DIAIRE
Options :
21052935665. 1
21052935666. 2
21052935667. 3
21052935668. 4

Question Number : 18 Question Id : 2105299086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The sequence of cultural institutions in communication is
A. Family

B. School

C. Religion

D. Mass media

Choose the correct answer from the options given below

1.A B CD
2.B CD A
3.CDAB
4D A B C
Options :
21052935669. 1



21052935670. 2
21052935671. 3
21052935672. 4

Question Number : 18 Question Id : 2105299086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
UgR H R lae SYH ST HH 8

A, UNaR
B. faereg
c. yd
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id fgu 77T fadedl § 9§ ¥l I gHT

1.A B CD
2.B.CDA
3.3.CDAB
4D A B C
Options :
21052935669. 1
21052935670. 2
21052935671. 3
21052935672. 4

Question Number : 19 Question Id : 2105299087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Giving orders to students in the classroom is a specific form of communication
Reason R: The manner of orders depends upon the cultural background of the students
involved

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052935673. 1

21052935674. 2

21052935675.3

21052935676. 4

Question Number : 19 Question Id : 2105299087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935673. 1

21052935674. 2

21052935675. 3

21052935676. 4

Question Number : 20 Question Id : 2105299088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Examples Type of communication
A. Meaningless sound and words I. Polysemy

B. Traffic light signals Il. Dyadic communication

C. Words that have different meanings |lll. Paralinguistic

D. Two persons exchanging greetings |(IV. Non-verbal communication

Choose the correct answer from the options given below:

TA-1LB-1LC-1V,D-1l
ZA-HB-ULC-LD-I
FA-NILB-W,C-1,D-1
4AA-IWE-LC-1L,D-1l}

Options :

21052935677. 1
21052935678. 2
21052935679. 3
21052935680. 4

Question Number : 20 Question Id : 2105299088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1TA-ILB-1LC-1IV,D-1l
ZA-ILB-HLC-1L,D-V
JA-ILB-WV,C-1,D-Il
4 A-IV,B-LC-1L,D-1I
Options :

21052935677. 1



21052935678. 2
21052935679. 3
21052935680. 4

Question Number : 21 Question Id : 2105299089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The product of the ages of Sagun and Srishti is 240. If twice the age of Srishti is more than
Sagun's age by 4 years, then what is Srishti's age?

1.15

2. 12

3.10

4.20

Options :
21052935681. 1
21052935682. 2
21052935683. 3
21052935684. 4

Question Number : 21 Question Id : 2105299089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WA 3R gP & 31 &1 0AGas 240 &1 e G &1 314 &I SR S fadl 918 dl 98 TH &
g H 4 T8 AP Bial 5| GiE DI 341 fova1 & 2

1.15

2. 12

3.10

4. 20

Options :
21052935681. 1
21052935682. 2
21052935683. 3
21052935684. 4

Question Number : 22 Question Id : 2105299090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Complete the following series
9,11,15,23,39, _ 7

1. 71

2. 65

3. 44

4. 68

Options :
21052935685. 1
21052935686. 2
21052935687. 3
21052935688. 4

Question Number : 22 Question Id : 2105299090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafeiad ®H o g S :
9,11, 15, 23,39, .2,

R |

2. 65

3. 44

4. 68

Options :
21052935685. 1
21052935686. 2
21052935687. 3
21052935688. 4

Question Number : 23 Question Id : 2105299091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Sum of the angles of a triangle is 180°

Statement II: The sum of any two sides of a triangle is greater than the third side

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement Il is true
Options :

21052935689. 1

21052935690. 2

21052935691. 3

21052935692. 4

Question Number : 23 Question Id : 2105299091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AL A AR R

@YH-1 : fooddl Yt & DIl &1 i 180° BidT 8

HUF-1 : T By 31 [ g Yonstt &1 oS &1 g S Yo &1 ot 9 e gl g
e B P 3Tl H Fiid fGoedl § U Hel I 94 ;
1. ®YF | 3R 1 gHT el B

2. @Y | R I T Tad 8

3. ®YH-1 9 g, foog dyH-1 Tad B

4, ®YA-1 39T &, fo=g HYH-11 T8I &

Options :

21052935689. 1

21052935690. 2

21052935691. 3
21052935692. 4

Question Number : 24 Question Id : 2105299092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider the following three sets of numbers
A 259

B.1,6 10

C.3,48

Which of the following represents correct ascending order of the averages of three sets A, B
and C?

Choose the correct answer from the options given below

1.C<A<B
ZB<C< A
3B<A<C
4 C<B<A
Options :

21052935693.
21052935694.
21052935695.
21052935696.

AW N =

Question Number : 24 Question Id : 2105299092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tagrsil & Hgfalad 3 99=gf i faar Sifer
A 2,59
B. 1,6 10

C.3,48
diHT G=dl A, B 3R ¢ & gl & Ug! RI] HH DI 91 87

1.C<A<B
ZB<C<A
3B<A<C
4 C<B<A
Options :

21052935693.
21052935694.
21052935695.
21052935696.

AW N =



Question Number : 25 Question Id : 2105299093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
If 30% of A=0.25 of B=1/5 of C, then which of the following is true about A:B:C?

1.710: 1182

2. 10:15:12
3.10:12:15

4. 10:11:15
Options :
21052935697. 1
21052935698. 2
21052935699. 3
21052935700. 4

Question Number : 25 Question Id : 2105299093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

| N e -

e ABI30% =B H025=CHI1/5, T ABCHF Ay FEaGd g o -TT98ie ?

1. 10:11:12

2. 10:15:12
3.10:12:15

4. 10:11:15
Options :
21052935697. 1
21052935698. 2
21052935699. 3
21052935700. 4

Question Number : 26 Question Id : 2105299094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A, B, C, D, E and F are standing in a circle and looking at the centre. Only D is between A and
B. Only F is between A and C. E is just left of B. Who is the only cne standing between E and
F?

1T.A
2B
3.D
4, C

Options :

21052935701. 1
21052935702. 2
21052935703. 3
21052935704. 4

Question Number : 26 Question Id : 2105299094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ABCDENRFIGTIH WS IR P BIRTTREIANR BT T paaDB | AR
ChadPaaFelELeH P ad gl FUed S Y- WESRFH T TSl 8 ?

1T A

2.B

3.D

4.C

Options :
21052935701. 1
21052935702. 2
21052935703. 3
21052935704. 4

Question Number : 27 Question Id : 2105299095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



All things which have smoke have fire;

This hill has smoke:

Therefore, The hill has smoke; and

No non-fiery things have smoke;

This hill has smoke:

Therefore, this hill is not non-fiery

The above is an example of which type of inference in Indian logic?

1. Purvavat

2. Anvayavyatireki
3. Kevalanvayi

4. Kevalavyatireki
Options :
21052935705. 1
21052935706. 2
21052935707. 3
21052935708. 4

Question Number : 27 Question Id : 2105299095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o grel Taft o § ST Eid

Uglgl H YA gidn 8 ;

SHfee, SRS H Y & ;

3R T s ATl e Wi e A yei e g,

39 UBTS H Yt 5 ;

TURIT, g8 U1l farq1 31T arell 7a1 &

SWRIad WG b HiEr ¥ fod WeR @1 AR B SAEU §

1. 9ddq
2, GO ®]

3. Paasadl
4, A cND]



Options :

21052935705. 1
21052935706. 2
21052935707. 3
21052935708. 4

Question Number : 28 Question Id : 2105299096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Asidha is a fallacy when the middle term is

1. Unproved

2. Too wide

3. Toc narrow

4. Non-exclusive
Options :
21052935709. 1
21052935710. 2
21052935711. 3
21052935712. 4

Question Number : 28 Question Id : 2105299096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
3G TP Gy & 9@ 480 UG §f -

1. YA

2. Hfd AUS®
3. 3ffq dapiof
4. Sadf
Options :
21052935709. 1
21052935710. 2
21052935711.3
21052935712. 4

Question Number : 29 Question Id : 2105299097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Pairs Pairs of analogies
A. Assign : Allot I. Code : Password
B. Length : Meter Il. Clerk : Office

C. Doctor : Hospital lll. Mend : Repair
D. Lock : Key IV. Mass : Kilogram

Choose the correct answer from the options given below:

TA-ILB-IV,C-Il,D-|
ZA-IVB-ILC-l,D-|
3A-ILB-IM,C-1,D-1
4A-IVB-IILC-1I,D-I
Options :

21052935713. 1
21052935714. 2
21052935715.3
21052935716. 4

Question Number : 29 Question Id : 2105299097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tdi-1 7 feU 7T¢ o] ol Gei-11 | 13U 70 9resg gl o 91y GHied dife

Tl-| ]

A. 3T : 3l |. IS U¥ds

B. THETS : Hiex |1, T ; I

C. Sded : IHdra . YR - 73T
DAGINIEECIE ] V. SO : flamme
i feu 70 fasedl § U U8l 3w gL

TA-NLB-IV,C-Il,D-1
ZA-W,B-ILC-Il,D-1
3.A-1ILB-IV,C-1,D-1l
4 A-IVB-1ILC-ILD-1
Options :

21052935713. 1
21052935714.2
21052935715.3



21052935716. 4

Question Number : 30 Question Id : 2105299098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A man is facing south-west. If he turns 90° in the anticlockwise direction and then 135° in the
clockwise direction, which direction is he facing now?

1. West

2. North-West
3. North-East
4. East
Options :
21052935717. 1
21052935718. 2
21052935719. 3
21052935720. 4

Question Number : 30 Question Id : 2105299098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Uas o4fad Gfam - Ui &1 3R e S Wal | 98 Yol &1 Jeel o= H 90° WX gadl ¢ <R fihe
TSI @I fG= H 135° S 8| 34 g8 ¥ 3R Hg Db WSl 6 ?

1. 98

2. 3w - UufgH
3.3 -Jg
4,99

Options :
21052935717. 1
21052935718. 2
21052935719. 3
21052935720. 4

Question Number : 31 Question Id : 2105299099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RAM is placed on

1. Hard Disk

2. Extension board
3. Motherboard

4. USB



Options :

21052935721. 1
21052935722. 2
21052935723. 3
21052935724. 4

Question Number : 31 Question Id : 2105299099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RAM FEfaReg 4 fea e g 2

1. 818 f&%®

2. TqHeTH dle
3. fexdls
4.7 T
Options :
21052935721. 1
21052935722. 2
21052935723. 3
21052935724. 4

Question Number : 32 Question Id : 2105299100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. NKN stands for New Knowledge Network

B. MOOQOCs are offline courses

C. National Supercomputing Mission is a Government of India initiative
D. Clock rate of CPU is measured in Gigabytes

E. Param Shivay is a super computer

Choose the correct answer from the options given below:

1. C and E only
2. B and C only
3. Cand D only
4. A and E only
Options :
21052935725. 1



21052935726. 2
21052935727. 3
21052935728. 4

Question Number : 32 Question Id : 2105299100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FoffEaa i deH-d HyT gl g 7
A. NKN - New Knowledge Network @ dfag =g % I

B. MOOCs % TS+ UIda@H & |

C. 99 YR HrEN fRH YRd TWHR &1 TP Ugd o

D, 91, i, g, @1 Files << MHnarsey § J141 Sl & |

E. J3H T2/ Ue YR $Fge ¢
i fen e famdl § 9 98t IR gHY

1. $aaC ARE
2. HBaAB AR C
3. H3a C AR D
4. HaaA ANE
Options :
21052935725. 1
21052935726. 2
21052935727. 3
21052935728. 4

Question Number : 33 Question Id : 2105299101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Cache memory is faster than random access memory
Statement II: Random access memory is closer to the processor than cache memory

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :

21052935729. 1

21052935730. 2

21052935731. 3

21052935732. 4

Question Number : 33 Question Id : 2105299101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A LA AR R

HYA-1 ; DR HART ¥SH URE H9R] 9§ o il g

HUF-I| ; Yo THY A9 2 9918 &1 ga §, TR & el 3o e gid 2
Judad Byl & 3Teie | Fgiied el § 9 98 I g .
1. B | 3R 1| gHT 9el B

2. Y| AR G Tel T8l 8|

3. BYH-1 T8! &, foorg -1 T8t Tl B

4, TYF-| 981 51 &, foorg BYH-Il GBI B

Options :

21052935729. 1

21052935730. 2

21052935731. 3
21052935732. 4

Question Number : 34 Question Id : 2105299102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT a web browser?

1. Firefox

2. Facebook

3. Chrome

4. Safari
Options :
21052935733. 1
21052935734.2
21052935735. 3
21052935736. 4

Question Number : 34 Question Id : 2105299102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frofeiad # € ®1H-41 99 §I99R 961 & ?

1. BRI
2. hyug®

3. %M

4, YBR]
Options :
21052935733. 1
21052935734. 2
21052935735.3
21052935736. 4

Question Number : 35 Question Id : 2105299103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
URL stands for

1. Universal Resource Location
2. Universal Response Locator
3. Unified Response Location
4. Uniform Resource Locator
Options :

21052935737. 1

21052935738. 2

21052935739. 3

21052935740. 4

Question Number : 35 Question Id : 2105299103 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

JIR T :

1. ZHEHE R die e
2. o Ui didel
3. gABIES Y diheH
4. gHBH e dideR
Options :

21052935737. 1
21052935738. 2
21052935739. 3
21052935740. 4

Question Number : 36 Question Id : 2105299104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence of the following States Union of India in terms of increasing wind
energy potential

A. Gujarat

B. Rajasthan

C. Madhya Pradesh

D. Tamil Nadu

Choose the correct answer from the options given below

1.D,C B, A
2.B D, C A
3.BCAD
4B, C, D, A
Options :
21052935741. 1
21052935742. 2
21052935743. 3
21052935744. 4

Question Number : 36 Question Id : 2105299104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



UaH 3ol &9dl & 96d g0 4 & ga I YRd U9 & FHgfafEd Iedl & Tel %9 &1 UgdH Sifa

A. TG

B. I[eTRT
C. HeOveE
D, AHTTg
d feu 7 fadedl F 9 el 3wk gAU:

1.D,C B, A
2.B,DC A
3.BCAD
4B C D A
Options :
21052935741. 1
21052935742.2
21052935743. 3
21052935744. 4

Question Number : 37 Question Id : 2105299105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Dissolved oxygen (DQ), an important parameter of water quality, is essential for survival of

1. Humans

2. Animals

3. Fish

4. Crops and vegetables
Options :

21052935745. 1
21052935746. 2
21052935747. 3
21052935748. 4

Question Number : 37 Question Id : 2105299105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qfcr SHlaiTs (21 ) ST Tora & Hewql AFgs & w9 H e 7 ¥ 6w 3w -
Siia @ foTd SH1axgd © 7

1. 735
2.9

3. Haal

4, HHd IR Fieagi
Options :
21052935745. 1
21052935746. 2
21052935747. 3
21052935748. 4

Question Number : 38 Question Id : 2105299106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the following elements which is typically the most abundant in dried sewage sludge?

1. Total nitrogen

2. Total sulphur

3. Calcium

4. Total phosphorous
Options :
21052935749. 1
21052935750. 2
21052935751. 3
21052935752. 4

Question Number : 38 Question Id : 2105299106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fofeied dwfl § ¥ &H-T1 dad 3¢ 91df & 99 ©ias o 928 0 U Yaiite 331 H Ukl §ldl 6 ?

1. 94 (eleq) AeraH
2. P (led) ey

3. dfcggg

4. 9d (¢led) BIEhIRY
Options :
21052935749. 1
21052935750. 2
21052935751. 3
21052935752. 4




Question Number : 39 Question Id : 2105299107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence of sectoral global CO; emissions in increasing order as per IPCC
(2014) report

A. Electricity and heat production

B. Buildings

C. Transportation

D. Industry

Choose the correct answer from the options given below

1.B,C,D A
2B CAD
3.B,D, C A
4B, DA C
Options :
21052935753. 1
21052935754. 2
21052935755. 3
21052935756. 4

Question Number : 39 Question Id : 2105299107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1S 4 I 1 (2014) D RUE & 3OR 770 (YaeiRa) 9% Bled SEAIESs (CO5) 36l &
HRIE! 0 H Ug] HH &I UgdH Do ;

a. faggd &R a9 IdrgA

B. HaA

C. ORa&

D. T

A f&u 7 faeeyl & 9 el IR g9 :

1.B,C,D A
2B, CAD
3.B.D,C A
4B D A C
Options :
21052935753. 1
21052935754.2
21052935755.3
21052935756. 4

Question Number : 40 Question Id : 2105299108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Under Goal 2 of Millenium Development Goals, UN member countries were to ensure that by
2015, children everywhere, boys and girls would be able to complete a full course of

1. Primary education

2. Secondary education
3. Tertiary education

4. Skill based education
Options :

21052935757. 1
21052935758. 2
21052935759.3
21052935760. 4

Question Number : 40 Question Id : 2105299108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e Edlles fAmTH TedT & & 2 (goal 2) o fcd, VYH Y & TG o= & 9Y 2015 Td &
SRS dddl (dIcd SR difcars) gR (HafaRed § I $H-31 Ureasd TR fear oH1 GEiEd &
IR

1. UTYH T2ram

2. e fREm

3. ol fara

4, PRI e FRA&T
Options :
21052935757. 1
21052935758. 2
21052935759. 3
21052935760. 4

Question Number : 41 Question Id : 2105299109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement I: A deemed to be university is a non-affiliating university

Statement Il: The teacher-student ratio in a deemed to be university must not be less than
1:10

In light of the above statements, choose the correct answer from the opticns given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement Il is true
Options :

21052935761. 1

21052935762. 2

21052935763. 3

21052935764. 4

Question Number : 41 Question Id : 2105299109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



EIERAG e AR S
HU-1 A [qufaercy &is ¢ & g elid) e yftamasars

®YA-11 : Tt Ji-d Tayfaere H e - il srura sii9%gs €99 1: 10 ° $H el oHl
dligu|

udad HYHI & HTd H Fgifed el H I 98 3w 9 ;

1. @Y | 3R || SH 98l 8

2. YT | AR 11 EHf e B

3. ®YA-1 9 g, foog dYH-1 Tad B
4. DYH-| A9 8, foog DYA-11 GBI B
Options :

21052935761. 1

21052935762. 2

21052935763. 3

21052935764. 4

Question Number : 42 Question Id : 2105299110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
When did the United Nations Environmental Program (UNEP) and the International Program in
Environmental Education (IEEP) come into existence?

1.1972
21975

3. 1982

4. 1992
Options :
21052935765. 1
21052935766. 2
21052935767. 3
21052935768. 4

Question Number : 42 Question Id : 2105299110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Yo P ugiaRy SseH (4 U 3 UT) IR uaiaRuiiy s H SfeRipE SrdeH (3153 S U) P
A& | oy 7

1.1972
21975

3. 1982

4. 1992
Options :
21052935765. 1
21052935766. 2
21052935767. 3
21052935768. 4

Question Number : 43 Question Id : 2105299111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to the census of 2011, which state/union territory had the maximum number of
graduates in relation to its population?

1. Uttar Pradesh
2. Kerala

3. Daman and Diu
4. Chandigarh
Options :
21052935769. 1
21052935770. 2
21052935771. 3
21052935772. 4

Question Number : 43 Question Id : 2105299111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ay 2011 &I FHIUEN & HIYR HufeiRed o U fog Tsg / U9 U9 &3 & U 391 9498 &
HUTd T Wide] @1 G ey o 7

1. 3R UeH

2.

3. A Ed old
4. 93NTg
Options :
21052935769. 1
21052935770. 2
21052935771. 3



21052935772. 4

Question Number : 44 Question Id : 2105299112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The full form of 'NEAT', a recently launched scheme of MHRD, Government of India, is

1. National Engineering Aptitude Test

2. National Educational Alliance for Technology
3. National Education Alliance for Testing

4. National English Aptitude Test

Options :

21052935773. 1
21052935774. 2
21052935775. 3
21052935776. 4

Question Number : 44 Question Id : 2105299112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AHd Ty fasr da1ed, YRd IRGR @ 81 o & &1 4] OieFT - 'NEAT (i) Fafafaa o
Y foqe Uigd ¥ & ?

1. ;\E ¢ ‘{éi\ﬂ; !qﬁ* Glj_ix_ggéE
2. A= U R U B caH ol
3. ARFE TR TAY BR SR

4, = S UPIeTS ok
Options :

21052935773. 1
21052935774.2
21052935775. 3
21052935776. 4

Question Number : 45 Question Id : 2105299113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



An Inter-University Center for Yogic sciences has been set up by University Grants Commission

in the state of

1. Karnataka

2. Madhya Pradesh
3. Uttrakhand

4. Himachal Pradesh
Options :
21052935777. 1
21052935778. 2
21052935779. 3
21052935780. 4

Question Number : 45 Question Id : 2105299113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faufaemea 3reM 2MmEr 3 oW - faufaerag o - fGgm o5 @R - g efid ¥R BROfe
) & ™I GO Ta T Bl g 7

1. Bled

2. HEUCH

3. J{dUs
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Options :
21052935777. 1
21052935778. 2
21052935779. 3
21052935780. 4

Sub-Section Number : 3
Sub-Section Id : 210529350
Question Shuffling Allowed : Yes

Question Id : 2105299114 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

In Skinner's system, reinforcement is automatic, almost by definition. Perhaps the most
convincing demonstration of the automatic effect of a reinforcer is what Skinner (1948) has
called "superstitious behaviour”. In this situation, an event known to be reinforcing is
presented intermittently without respect to what the subject is doing. But if it is doing
anything (and this can be made likely through deprivation, etc.), the response just prior to the
delivery of the reinforcer is strengthened, as evidenced by an increase in its rate of emission.
The subject comes to "act as if" the response that has been fortuitously strengthened
somehow produces the reinforcement. This occurs even though the reinforcer is actually
delivered by a mechanical device that is in no way responsive to the subject’s behaviour.

The automatic effect of reinforcement is also illustrated in Skinner's effective techniques of
shaping behaviour. These procedures could hardly have sprung from a point of view that
regarded all behaviour as elicited. But with the organism viewed as "emitting” the varied
responses already in his repertoire, it was an easy step to conceive of shaping. If the observer
simply controlled the quick presentation of a reinforcer, then he could strengthen any
behaviour the organism happened to emit. Responses not in the subject's repertoire could
then be built into it by appropriate arrangements of environmental conditions and the
successive approximation technigue.

Sub questions

Question Number : 46 Question Id : 2105299115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Skinner, the superstitious behaviour of individuals is the cutcome of

1. Constant exposure to an event

2. Exposure to an event without regularity
3. Occasional exposure to an event

4. Natural exposure to an event

Options :

21052935781. 1

21052935782.2

21052935783. 3

21052935784. 4

Question Number : 47 Question Id : 2105299116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The delivery of the reinforcer gets strengthened due to

1. The subjects involvement in the event
2. Increase in the rate of reinforcement
3. Factors such as deprivation

4. The use of a mechanical device
Options :

21052935785. 1

21052935786. 2

21052935787. 3

21052935788. 4

Question Number : 48 Question Id : 2105299117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The example of a mechanical device reinforcing the subject's behaviour demonstrates

1. The automatic effect of reinforcement

2. The illusion of reinforcement

3. The discrepancy in subject’'s behaviour

4. The belief that every reaction is an act of reinforcement
Options :

21052935789. 1

21052935790. 2

21052935791. 3

21052935792. 4

Question Number : 49 Question Id : 2105299118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The procedure of shaping a subject's behaviour is related to his
A. Susceptibility

B. Desire for reinforcement

C. Responses already in his repertoire

D. Responses reinforced by approximation technigues

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
21052935793. 1
21052935794. 2
21052935795. 3
21052935796. 4

Question Number : 50 Question Id : 2105299119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The responses that are not in the emission list of a subject, can be cbserved by

1. Coercive measures

2. Creating suitable environmental conditions
3. Inhibiting his natural emission behavior

4. Using mechanical devices for reinforcement
Options :

21052935797. 1

21052935798. 2

21052935799. 3

21052935800. 4

Question Id : 2105299114 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105299115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RHR 3ER, idedl &1 SUfayRil 9deR fhydl URUMH § 2

1. &A1 @l 90d Faara

2. Taiidgar fed g1 &1 IargH
3. Y1 @I 4Gl - Bl S8

4, 91 B UIPpidd Iar-
Options :

21052935781. 1

21052935782. 2

21052935783. 3

21052935784. 4

Question Number : 47 Question Id : 2105299116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935785. 1
21052935786. 2
21052935787. 3
21052935788. 4

Question Number : 48 Question Id : 2105299117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935789. 1

21052935790. 2

21052935791. 3

21052935792. 4

Question Number : 49 Question Id : 2105299118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935793 1
21052935794. 2
21052935795. 3
21052935796. 4

Question Number : 50 Question Id : 2105299119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935797. 1

21052935798. 2

21052935799. 3

21052935800. 4

PART II English
Section Id : 210529112
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 94

Number of Questions to be attempted : 94

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529351
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105299120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The deductive method differs from the inductive method in drawing its conclusions from :

1. verification

2. particular instances
3. applications

4. general truths

Options :

21052935801. 1
21052935802. 2
21052935803. 3
21052935804. 4

Question Number : 51 Question Id : 2105299120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The deductive method differs from the inductive method in drawing its conclusions from :

1. verification

2. particular instances
3. applications

4. general truths

Options :

21052935801. 1
21052935802. 2
21052935803. 3
21052935804. 4

Question Number : 52 Question Id : 2105299121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following journals publishes articles related to critical theory exclusively?

1. Salmagundi
2. Diacritics
3. Callaloo
4. Grand Street

Options :

21052935805. 1
21052935806. 2
21052935807. 3
21052935808. 4

Question Number : 52 Question Id : 2105299121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following journals publishes articles related to critical theory exclusively?

1. Salmagundi
2. Diacritics
3. Callaloo
4. Grand Street

Options :

21052935805. 1
21052935806. 2
21052935807. 3
21052935808. 4

Question Number : 53 Question Id : 2105299122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following assumptions best expresses the position of Post-Structuralist
criticism?

1. Definite structures underlie empirical events,

2. Language is representational.

3. Apprehension of reality is a construct.

4. Knowledge operates according to procedures that are axiomatic.

Options :

21052935809. 1
21052935810. 2
21052935811. 3
21052935812. 4



Question Number : 53 Question Id : 2105299122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following assumptions best expresses the position of Post-Structuralist
criticism?

1. Definite structures underlie empirical events.

2. Language is representational.

3. Apprehension of reality is a construct.

4. Knowledge operates according to procedures that are axiomatic.

Options :

21052935809. 1
21052935810. 2
21052935811. 3
21052935812. 4

Question Number : 54 Question Id : 2105299123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is correct about Saussure's analysis of language?

1. La langue is the system of a language.

2. Parole focuses on language as a system at a particular time.
3. La langue is the particular instance of speech and writing.
4. Parole is the study of language over a period of time.

Options :

21052935813. 1
21052935814. 2
21052935815. 3
21052935816. 4

Question Number : 54 Question Id : 2105299123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is correct about Saussure's analysis of language?

1. La langue is the system of a language.

2. Parole focuses on language as a system at a particular time.
3. La langue is the particular instance of speech and writing.
4. Parole is the study of language over a period of time.



Options :

21052935813. 1
21052935814. 2
21052935815. 3
21052935816. 4

Question Number : 55 Question Id : 2105299124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following theorists particularly emphasized the social and historical
dimensions of a text's reception?

1. Welfgang lser

2. Stanley Fish

3. Hans Robert Jauss
4. Pierre Bourdieu

Options :

21052935817. 1
21052935818. 2
21052935819. 3
21052935820. 4

Question Number : 55 Question Id : 2105299124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following theorists particularly emphasized the social and historical
dimensions of a text's reception?

1. Welfgang lIser

2. Stanley Fish

3. Hans Robert Jauss
4. Pierre Bourdieu

Options :

21052935817. 1
21052935818. 2
21052935819. 3
21052935820. 4

Question Number : 56 Question Id : 2105299125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one among the following is a set of the Metaphysical Poets?

1. John Dryden, George Herbert, and Alexander Pope
2. Henry Vaughan, John Dryden, and John Donne

3. John Donne, Henry Vaughan, and Andrew Marvell
4 Samuel Johnson, T.5. Eliot and Herbert Grierson

Options :

21052935821. 1
21052935822. 2
21052935823. 3
21052935824. 4

Question Number : 56 Question Id : 2105299125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one among the following is a set of the Metaphysical Poets?

1. John Dryden, George Herbert, and Alexander Pope
2. Henry Vaughan, John Dryden, and John Donne

3. John Donne, Henry Vaughan, and Andrew Marvell
4 Samuel Johnson, T.5. Eliot and Herbert Grierson

Options :

21052935821. 1
21052935822. 2
21052935823. 3
21052935824. 4

Question Number : 57 Question Id : 2105299126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is true about Aristotle’s poetics?

1. He asserted the value of poetry by integrating rhetoric and imitation (mimesis).

2. He asserted the value of poetry by focusing on both rhetoric and imitation (mimesis).

3. He asserted the value of poetry by giving preference to rhetoric over imitation (mimesis).
4. He asserted the value of poetry by focusing on imitation (mimesis) rather than rheteric.

Options :

21052935825. 1
21052935826. 2
21052935827. 3



21052935828. 4

Question Number : 57 Question Id : 2105299126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is true about Aristotle’s poetics?

1. He asserted the value of poetry by integrating rhetoric and imitation (mimesis).

2. He asserted the value of poetry by focusing on both rhetoric and imitation (mimesis).

3. He asserted the value of poetry by giving preference to rhetaric over imitation (mimesis).
4. He asserted the value of poetry by focusing on imitation (mimesis) rather than rheteric.

Options :

21052935825. 1
21052935826. 2
21052935827.3
21052935828. 4

Question Number : 58 Question Id : 2105299127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who said of the blank verse, quoting an unnamed critic, that it is "...verse only to the eye”,
adding further that it "has neither the easiness of prose, nor the melody of numbers"?

1. John Dryden

2. Alexander Pope

3. Samuel Taylor Coleridge
4. Samuel Johnson

Options :

21052935829. 1
21052935830. 2
21052935831. 3
21052935832. 4

Question Number : 58 Question Id : 2105299127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who said of the blank verse, quoting an unnamed critic, that it is "...verse only to the eye”,
adding further that it "has neither the easiness of prose, nor the melody of numbers"?

1. John Dryden

2. Alexander Pope

3. Samuel Taylor Coleridge
4. Samuel Johnson

Options :

21052935829. 1
21052935830. 2
21052935831. 3
21052935832. 4

Question Number : 59 Question Id : 2105299128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Poetry according to Sir Philip Sidney is of three kinds. They are :

1. religious, dramatic, romantic

2. classical, romantic, neo-classical

3. philosophical, imaginative, narrative
4. religious, philosophical, imaginative

Options :

21052935833. 1
21052935834. 2
21052935835. 3
21052935836. 4

Question Number : 59 Question Id : 2105299128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Poetry according to Sir Philip Sidney is of three kinds. They are :

1. religious, dramatic, remantic

2. classical, romantic, neo-classical

3. philosophical, imaginative, narrative
4. religious, philosophical, imaginative

Options :

21052935833. 1
21052935834. 2
21052935835. 3
21052935836. 4



Question Number : 60 Question Id : 2105299129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Anxiety of Influence which of the following definitions is given by Harold Bloom to explain
the term, ‘clinamen'?

1. poetic hyperbole
2. poetic misprision
3. poetic sublime

4. poetic supplement

Options :

21052935837. 1
21052935838.2
21052935839. 3
21052935840. 4

Question Number : 60 Question Id : 2105299129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Anxiety of Influence which of the following definitions is given by Harold Bloom to explain
the term, 'clinamen'?

1. poetic hyperbole
2. poetic misprision
3. poetic sublime

4. poetic supplement

Options :

21052935837. 1
21052935838. 2
21052935839. 3
21052935840. 4

Question Number : 61 Question Id : 2105299130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following is known to have popularized the term "glocalization'?

1. Ronald Robertson
2. Francis Fukuyama
3. John Urry

4. John Tomlinson

Options :

21052935841. 1
21052935842. 2
21052935843. 3
21052935844. 4

Question Number : 61 Question Id : 2105299130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following is known to have popularized the term "glocalization'?

1. Ronald Robertson
2. Francis Fukuyama
3. John Urry

4. lohn Tomlinson

Options :

21052935841. 1
21052935842. 2
21052935843. 3
21052935844. 4

Question Number : 62 Question Id : 2105299131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following coined the dictum, "the medium is the message"?

1. Raymond Williams
2. Erving Goffman

3. Marshall McLuhan
4. John Fiske

Options :

21052935845. 1
21052935846. 2
21052935847. 3
21052935848. 4



Question Number : 62 Question Id : 2105299131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following coined the dictum, "the medium is the message"?

1. Raymond Williams
2. Erving Goffman

3. Marshall McLuhan
4. John Fiske

Options :

21052935845. 1
21052935846. 2
21052935847. 3
21052935848. 4

Question Number : 63 Question Id : 2105299132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following presented the concept of ‘'multi-accentuality’ of the sign, saying
that signs possess an 'inner dialectical quality' and 'evaluative accent'?

1. Roland Barthes

2. Stuart Hall

3. Jacques Derrida

4. Valentin Voloshinov

Options :

21052935849. 1
21052935850. 2
21052935851. 3
21052935852. 4

Question Number : 63 Question Id : 2105299132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following presented the concept of ‘'multi-accentuality’ of the sign, saying
that signs possess an 'inner dialectical quality’ and 'evaluative accent'?

1. Roland Barthes

2. Stuart Hall

3. Jacques Derrida

4. Valentin Voloshinov

Options :

21052935849. 1
21052935850. 2
21052935851. 3
21052935852. 4

Question Number : 64 Question Id : 2105299133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

On December 11, 1823, Rammohan Roy addressed a letter to the British authority which
pleaded for modern western education and is considered historically important for the
introduction of English education in India. Who was the letter addressed to?

1. Lord Amherst
2. Lord Minto

3. Lord Macaulay
4. Lord Bentick

Options :

21052935853. 1
21052935854.2
21052935855. 3
21052935856. 4

Question Number : 64 Question Id : 2105299133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

On December 11, 1823, Rammohan Roy addressed a letter to the British authority which
pleaded for modern western education and is considered historically important for the
introduction of English education in India. Who was the letter addressed to?

1. Lord Amherst
2. Lord Minto

3. Lord Macaulay
4. Lord Bentick



Options :

21052935853. 1
21052935854. 2
21052935855. 3
21052935856. 4

Question Number : 65 Question Id : 2105299134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which British administrator sought "to make everything as English as possible in a country
which resembles England in nothing”, as recorded by Sir Thomas Munro?

1. Lord Bentick

2. Lord Hastings
3. Lord Cornwallis
4. Lord Wellesley

Options :

21052935857. 1
21052935858. 2
21052935859. 3
21052935860. 4

Question Number : 65 Question Id : 2105299134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which British administrator sought "to make everything as English as possible in a country
which resembles England in nothing”, as recorded by Sir Thomas Munro?

1. Lord Bentick

2. Lord Hastings
3. Lord Cornwallis
4. Lord Wellesley

Options :

21052935857. 1
21052935858. 2
21052935859. 3
21052935860. 4

Question Number : 66 Question Id : 2105299135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following was the first Director of the Central Institute of English and Foreign
Languages, Hyderabad (now EFL University)?

1. Prof V.K. Gokak

2. Prof C.D. Narasimhaiah
3. Prof C.J. Daswani

4. Prof K. R. S. lyengar

Options :

21052935861. 1
21052935862. 2
21052935863. 3
21052935864. 4

Question Number : 66 Question Id : 2105299135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following was the first Director of the Central Institute of English and Foreign
Languages, Hyderabad (now EFL University)?

1. Prof V.K. Gokak

2. Prof C.D. Narasimhaiah
3. Prof C.J. Daswani

4. Prof K. R. S. lyengar

Options :

21052935861. 1
21052935862. 2
21052935863. 3
21052935864. 4

Question Number : 67 Question Id : 2105299136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following best explains the term "paralanguage'?

1. The ways in which people mask what they mean by the words they use

2. The ways in which people show what they mean other than by the words they use
3. The ways in which words carry meanings unintended by the speaker

4. The ways in which the silence underlying speech communicates wrong meanings

Options :
21052935865. 1
21052935866. 2



21052935867. 3
21052935868. 4

Question Number : 67 Question Id : 2105299136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following best explains the term "paralanguage’?

1. The ways in which people mask what they mean by the words they use

2. The ways in which people show what they mean other than by the words they use
3. The ways in which words carry meanings unintended by the speaker

4. The ways in which the silence underlying speech communicates wrong meanings

Options :

21052935865. 1
21052935866. 2
21052935867. 3
21052935868. 4

Question Number : 68 Question Id : 2105299137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following oppositions are best evoked by Hamlet's utterance - "To be or not
to be"?

A. between life and death

B. between action and emotion

C. between affirmation and confirmation

D. between doing and abstaining from doing

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. Cand A only
4. D and C only

Options :

21052935869. 1
21052935870. 2
21052935871. 3
21052935872. 4



Question Number : 68 Question Id : 2105299137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following oppositions are best evoked by Hamlet's utterance - "To be or not
to be"?

A. between life and death

B. between action and emotion

C. between affirmation and confirmation

D. between doing and abstaining from doing

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. Cand A only
4. D and C only

Options :

21052935869. 1
21052935870. 2
21052935871. 3
21052935872. 4

Question Number : 69 Question Id : 2105299138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following linguists proposed the terms, 'competence’ and 'performance'?

1. Noah Webster
2. Steven Pinker
3. Roman Jakobson
4. Noam Chomsky

Options :

21052935873. 1
21052935874.2
21052935875. 3
21052935876. 4



Question Number : 69 Question Id : 2105299138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following linguists proposed the terms, 'competence’ and 'performance'?

1. Noah Webster
2. Steven Pinker
3. Roman Jakobson
4. Noam Chomsky

Options :

21052935873. 1
21052935874. 2
21052935875. 3
21052935876. 4

Question Number : 70 Question Id : 2105299139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of these statements defines the scope of semiotics?

1. Semiotics studies the sound systems of a language.
2. Semiotics is a study of sign systems.

3. Semiotics studies human sign system only.

4. Semiotics is a study of non-human sign systems only.

Options :

21052935877. 1
21052935878.2
21052935879. 3
21052935880. 4

Question Number : 70 Question Id : 2105299139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of these statements defines the scope of semiotics?

1. Semiotics studies the sound systems of a language.
2. Semiotics is a study of sign systems.

3. Semiotics studies human sign system only.

4. Semiotics is a study of non-human sign systems only.

Options :
21052935877. 1
21052935878. 2



21052935879. 3
21052935880. 4

Question Number : 71 Question Id : 2105299140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which according to Thomas Hobbes is the only 'science’ God has bestowed on mankind, that
informs the structure of his monumental work, Leviathan?

1. Astronomy

2. Architecture

3. Occult sciences
4. Geometry

Options :

21052935881. 1
21052935882. 2
21052935883. 3
21052935884. 4

Question Number : 71 Question Id : 2105299140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which according to Thomas Hobbes is the only 'science' God has bestowed on mankind, that
infarms the structure of his monumental work, Leviathan?

1. Astronomy

2. Architecture

3. Occult sciences
4. Geometry

Options :

21052935881. 1
21052935882.2
21052935883. 3
21052935884. 4

Question Number : 72 Question Id : 2105299141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As mentioned in "My First Acguaintance with Poets" which poet does William Hazlitt describe
as the "only person | ever knew who answered the idea of a man of genius"?

1. Coleridge

2. Wordsworth
3. Byron

4. Shelley

Options :

21052935885. 1
21052935886. 2
21052935887. 3
21052935888. 4

Question Number : 72 Question Id : 2105299141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
As mentioned in "My First Acguaintance with Poets" which poet does William Hazlitt describe
as the "only person | ever knew who answered the idea of a man of genius"?

1. Coleridge

2. Wordsworth
3. Byron

4. Shelley

Options :

21052935885. 1
21052935886. 2
21052935887. 3
21052935888. 4

Question Number : 73 Question Id : 2105299142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following essays holds that "As a method, realism is a complete failure"?

1. Virginia Woolf, "The Mark on the Wall"
2. Oscar Wilde, "The Decay of Lying"

3. D. H Lawrence, "Why the Novel Matters"
4. Mary McCarthy, "My Confession”

Options :
21052935889. 1
21052935890. 2



21052935891. 3
21052935892 4

Question Number : 73 Question Id : 2105299142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following essays holds that "As a method, realism is a complete failure"?

1. Virginia Woolf, "The Mark on the Wall"
2. Oscar Wilde, "The Decay of Lying"

3. D. H Lawrence, "Why the Novel Matters"
4. Mary McCarthy, "My Confession”

Options :

21052935889. 1
21052935890. 2
21052935891. 3
21052935892. 4

Question Number : 74 Question Id : 2105299143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following novels is structured into a poem of 999 lines, preceded by a
Foreword, followed by a Commentary and an Index?

1. Ragtime

2. Pale Fire

3. The Inner Side of the Wind
4. Hourglass

Options :

21052935893. 1
21052935894. 2
21052935895. 3
21052935896. 4

Question Number : 74 Question Id : 2105299143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following novels is structured into a poem of 999 lines, preceded by a
Foreword, followed by a Commentary and an Index?

1. Ragtime

2. Pale Fire

3. The Inner Side of the Wind
4. Hourglass

Options :

21052935893. 1
21052935894. 2
21052935895. 3
21052935896. 4

Question Number : 75 Question Id : 2105299144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which among the following novels includes a questionnaire for the reader such as "Do you like
the story so far? Yes () No ()"?

1. Mantissa by John Fowles

2. Waterland by Graham Swift

3. Snow White by Donald Barthelme

4. If on a Winter's Night a Traveller by Italo Calvino

Options :

21052935897. 1
21052935898. 2
21052935899. 3
21052935900. 4

Question Number : 75 Question Id : 2105299144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which among the following novels includes a questionnaire for the reader such as "Do you like
the story so far? Yes () No ()"?

1. Mantissa by John Fowles

2. Waterland by Graham Swift

3. Snow White by Donald Barthelme

4. If on a Winter's Night a Traveller by Italo Calvino

Options :
21052935897. 1



21052935898. 2
21052935899. 3
21052935900. 4

Question Number : 76 Question Id : 2105299145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the subject of Ilvan's controversial essay in Brothers Karamazov?

1. Transubstantiation
2. The evils of clergy
3. The Bucharist

4. Ecclesiastical courts

Options :

21052935901. 1
21052935902. 2
21052935903. 3
21052935904. 4

Question Number : 76 Question Id : 2105299145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the subject of Ilvan's controversial essay in Brothers Karamazov?

1. Transubstantiation
2. The evils of clergy
3. The Eucharist

4. Ecclesiastical courts

Options :

21052935901. 1
21052935902. 2
21052935903. 3
21052935904. 4

Question Number : 77 Question Id : 2105299146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following Sherlock Holmes stories refers to a significant event in English
history?

1. "The Musgrove Ritual’

2. "The Speckled Band"

3. "The Solitary Cyclist"

4. "The Red-Headed League”
Options :

21052935905. 1

21052935906. 2

21052935907. 3
21052935908. 4

Question Number : 77 Question Id : 2105299146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following Sherlock Holmes stories refers to a significant event in English
history?

1. "The Musgrove Ritual’

2. "The Speckled Band"

3. "The Solitary Cyclist"

4. "The Red-Headed League”
Options :

21052935905. 1

21052935906. 2

21052935907. 3
21052935908. 4

Question Number : 78 Question Id : 2105299147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Harold Skimpole is a character in :

1. Bleak House

2. Dombey and Son
3. Great Expectations
4. Oliver Twist

Options :
21052935909. 1
21052935910. 2



21052935911. 3
21052935912. 4

Question Number : 78 Question Id : 2105299147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Harold Skimpole is a character in :

1. Bleak House

2. Dombey and Son
3. Great Expectations
4. Oliver Twist

Options :

21052935909. 1
21052935910. 2
21052935911. 3
21052935912. 4

Question Number : 79 Question Id : 2105299148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is the author of "A Fragment” (1819), one of the earliest vampire stories in English?

1. P.B. Shelley
2. Lord Byron
3. Bram Stoker
4. Mary Shelley

Options :

21052935913. 1
21052935914. 2
21052935915. 3
21052935916. 4

Question Number : 79 Question Id : 2105299148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is the author of "A Fragment” (1819), one of the earliest vampire stories in English?

1. P.B. Shelley
2. Lord Byron
3. Bram Stoker
4. Mary Shelley



Options :

21052935913. 1
21052935914. 2
21052935915. 3
21052935916. 4

Question Number : 80 Question Id : 2105299149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Lala Kanshi Ram is a character in:

1. Arun Joshi's The Apprentice

2. Chaman Nahal's Azadi

3. Anita Desai's Fire on the Mountain

4. Kamala Markandaya's A Handful of Rice

Options :

21052935917. 1
21052935918. 2
21052935919. 3
21052935920. 4

Question Number : 80 Question Id : 2105299149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Lala Kanishi Ram is a character in:

1. Arun Joshi's The Apprentice

2. Chaman Nahal's Azadi

3. Anita Desai's Fire on the Mountain

4. Kamala Markandaya's A Handful of Rice

Options :

21052935917. 1
21052935918. 2
21052935919. 3
21052935920. 4

Question Number : 81 Question Id : 2105299150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following poems by Philip Larkin deals with the trauma of a rape victim who says
"BEven so distant, | can taste the grief"?

1. "Deceptions’
2. "Faith Healing'
3. "Sad Steps”

4. "Wild Oats"
Options :
21052935921. 1
21052935922. 2

21052935923. 3
21052935924. 4

Question Number : 81 Question Id : 2105299150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following poems by Philip Larkin deals with the trauma of a rape victim who says
"BEven so distant, | can taste the grief"?

1. "Deceptions’
2. "Faith Healing'
3. "Sad Steps”

4. "Wild Oats"
Options :
21052935921. 1
21052935922. 2

21052935923. 3
21052935924. 4

Question Number : 82 Question Id : 2105299151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which of the Bog poems does Seamus Heaney speak about the "perishable treasure” of a
body "Murdered, forgotten, nameless, terrible"?

1. "Bog Queen’

2. "Grauballe Man'
3. "Punishment”
4. "Strange Fruit"

Options :
21052935925. 1



21052935926. 2
21052935927. 3
21052935928. 4

Question Number : 82 Question Id : 2105299151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the Bog poems does Seamus Heaney speak about the "perishable treasure” of a
body "Murdered, forgotten, nameless, terrible"?

1. "Bog Queen’
"Grauballe Man'
"Punishment”

oW

"Strange Fruit"

Options :

21052935925. 1
21052935926. 2
21052935927. 3
21052935928. 4

Question Number : 83 Question Id : 2105299152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which book of Paradise Lost incorporates the speech rhythms of Adam and Eve's marital
quarrel?

1. Book 4
2. Book 6
3. Book 7
4. Book 9

Options :

21052935929. 1
21052935930. 2
21052935931. 3
21052935932. 4

Question Number : 83 Question Id : 2105299152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which book of Paradise Lost incorporates the speech rhythms of Adam and Eve's marital
quarrel?

1. Book 4
2. Book 6
3. Book 7
4. Book 9

Options :

21052935929. 1
21052935930. 2
21052935931. 3
21052935932. 4

Question Number : 84 Question Id : 2105299153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following wrote Mazeppa, a long narrative poem about a seventeenth-century
military leader of Ukraine?

1. William Cowper
2. Lord Byron

3. P.B. Shelley

4. 5. T. Coleridge

Options :

21052935933. 1
21052935934.2
21052935935. 3
21052935936. 4

Question Number : 84 Question Id : 2105299153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following wrote Mazeppa, a long narrative poem about a seventeenth-century
military leader of Ukraine?

1. William Cowper
2. Lord Byron

3. P.B. Shelley

4. 5. T. Coleridge

Options :
21052935933. 1



21052935934. 2
21052935935. 3
21052935936. 4

Question Number : 85 Question Id : 2105299154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is appropriately true of Harold Pinter's plays?

1. Menace is in the air and it leads to bloody viclence,

2. Menace is in the air and it is realized through the female characters.
3. Menace is in the air, but it is not pinned down, or explained.

4. Menace is in the air and anarchy follows in a systematic manner.

Options :

21052935937. 1
21052935938. 2
21052935939. 3
21052935940. 4

Question Number : 85 Question Id : 2105299154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is appropriately true of Harold Pinter's plays?

1. Menace is in the air and it leads to bloody violence.

2. Menace is in the air and it is realized through the female characters.
3. Menace is in the air, but it is not pinned down, or explained.

4. Menace is in the air and anarchy follows in a systematic manner.

Options :

21052935937. 1
21052935938. 2
21052935939. 3
21052935940. 4

Question Number : 86 Question Id : 2105299155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



To which mythological character is Faustus compared in the Prologue of Dr. Faustus?

1. Perseus
2. Theseus
3. lcarus

4. Achilles

Options :

21052935941. 1
21052935942. 2
21052935943. 3
21052935944. 4

Question Number : 86 Question Id : 2105299155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

To which mythological character is Faustus compared in the Prologue of Dr. Faustus?

1. Perseus
2. Theseus
3. lcarus

4, Achilles

Options :

21052935941. 1
21052935942. 2
21052935943. 3
21052935944. 4

Question Number : 87 Question Id : 2105299156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who makes the following speech in Samuel Beckett's Waiting for Godot?

"Astride of a grave and a difficult birth. Down in the hole, lingeringly, the grave-digger puts on
the forceps.'

1. Estragon
2. Lucky
3. Vladimir
4. Pozzo

Options :
21052935945. 1
21052935946. 2



21052935947. 3
21052935948. 4

Question Number : 87 Question Id : 2105299156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who makes the following speech in Samuel Beckett's Waiting for Godot?

"Astride of a grave and a difficult birth. Down in the hole, lingeringly, the grave-digger puts on
the forceps.'

1. Estragon
2. Lucky
3. Vladimir
4. Pozzo

Options :

21052935945. 1
21052935946. 2
21052935947. 3
21052935948. 4

Question Number : 88 Question Id : 2105299157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the major themes in William Congreve's The Way of the World?

1. jealousy and revenge
2. love and intrigue

3. intrigue and death

4. love and loyalty

Options :

21052935949. 1
21052935950. 2
21052935951. 3
21052935952 4

Question Number : 88 Question Id : 2105299157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the major themes in William Congreve's The Way of the World?

1. jealousy and revenge
2. love and intrigue

3. intrigue and death

4. love and loyalty

Options :

21052935949. 1
21052935950. 2
21052935951. 3
21052935952. 4

Question Number : 89 Question Id : 2105299158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What game do the characters play in Act Il of Harold Pinter's The Birthday Party?

1. A game of chess
2. A game of cards
3. Blind man's buff
4. Musical chairs

Options :

21052935953. 1
21052935954. 2
21052935955. 3
21052935956. 4

Question Number : 89 Question Id : 2105299158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What game do the characters play in Act Il of Harold Pinter's The Birthday Party?

1. A game of chess
2. A game of cards
3. Blind man's buff
4. Musical chairs

Options :

21052935953. 1
21052935954.2
21052935955. 3
21052935956. 4



Question Number : 90 Question Id : 2105299159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Duchess of Malfi is based on :

1. a French romance
2. an Italian novella

3. a Geman fable

4. a Scottish chronicle

Options :

21052935957. 1
21052935958. 2
21052935959. 3
21052935960. 4

Question Number : 90 Question Id : 2105299159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Duchess of Malfi is based on :

1. a French romance
2. an Italian novella

3. a Geman fable

4, a Scottish chronicle

Options :

21052935957. 1
21052935958. 2
21052935959. 3
21052935960. 4

Question Number : 91 Question Id : 2105299160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following strictly follow the parameters of documentation prescribed by the
eighth edition of the MLA Handbook?

A. Nunberg, Geoffrey, editor. The Future of the Book. U of California P, 1996.

B. Puig, Manuel. Kiss of the Spider Woman. Trans. Thomas Colchie, London: Vintage, 1991.

C. Nunberg, Geoffrey, ed. The Future of the Book. Berkeley: U of California P, 1996.

D. Puig, Manuel. Kiss of the Spider Woman. Translated by Thomas Colchie, Vintage Books, 1991,
Choose the correct answer from the options given below:

1.Aand B only
2. A and C only
3. A and D only
4. B and C only

Options :

21052935961. 1
21052935962. 2
21052935963. 3
21052935964. 4

Question Number : 91 Question Id : 2105299160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following strictly follow the parameters of documentation prescribed by the
eighth edition of the MLA Handbook?

A. Nunberg, Geoffrey, editor. The Future of the Book. U of California P, 1996.

B. Puig, Manuel. Kiss of the Spider Woman. Trans. Thomas Colchie, London: Vintage, 1991.

C. Nunberg, Geoffrey, ed. The Future of the Book. Berkeley: U of California P, 1996.

D. Puig, Manuel. Kiss of the Spider Woman. Translated by Thomas Colchie, Vintage Books, 1991,
Choose the correct answer from the options given below:

1.Aand B only
2. A and C only
3. A and D only
4. B and C only

Options :



21052935961. 1
21052935962. 2
21052935963. 3
21052935964. 4

Question Number : 92 Question Id : 2105299161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A research hypothesis is :

A. a proposition which is always true

B. a provisional explanation of anything

C. a theory which will be disproved by evidence

D. a statement which is assumed to be true for the sake of argument
Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and C only

Options :

21052935965. 1
21052935966. 2
21052935967. 3
21052935968. 4

Question Number : 92 Question Id : 2105299161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A research hypothesis is :

A. a proposition which is always true

B. a provisional explanation of anything

C. a theory which will be disproved by evidence

D. a statement which is assumed to be true for the sake of argument
Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and C only

Options :

21052935965. 1
21052935966. 2
21052935967. 3
21052935968. 4

Question Number : 93 Question Id : 2105299162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which two of the following aspects are to be scrupulously followed to avoid the trap of
plagiarism?

A, subjectivity

B. acknowledgement

C. citation

D. interpretation

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and C only
3. Cand D only
4. Band Conly

Options :
21052935969. 1



21052935970. 2
21052935971. 3
21052935972. 4

Question Number : 93 Question Id : 2105299162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which two of the following aspects are to be scrupulously followed to avoid the trap of
plagiarism?

A. subjectivity

B. acknowledgement

C. citation

D. interpretation

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and C only
3. Cand D only
4. Band Conly

Options :

21052935969. 1
21052935970. 2
21052935971. 3
21052935972 4

Question Number : 94 Question Id : 2105299163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two texts among the following are linked to literary feminism?
A. A Small Place

B. The Yellow Wallpaper

C. Emma

D. A Room of One’s Own

Choose the correct answer from the options given below:

1. A and D only
2. C and D only
3. B and D only
4. A and C only

Options :

21052935973. 1
21052935974. 2
21052935975. 3
21052935976. 4

Question Number : 94 Question Id : 2105299163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two texts among the following are linked to literary feminism?
A. A Small Place

B. The Yellow Wallpaper

C. Emma

D. A Room of One’s Own

Choose the correct answer from the options given below:

1. A and D only
2. Cand D only
3. B and D only
4. A and C only

Options :
21052935973. 1
21052935974.2



21052935975. 3
21052935976. 4

Question Number : 95 Question Id : 2105299164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following feminist theorists posited a separate realm of female experience
captured in a style of writing different from men's?

A. Elaine Showalter

B. Luce Irigaray

C. Kate Millett

D. Simone de Beauvoir

E. Helene Cixous

Choose the correct answer from the options given below:

1. A, Cand D only
2. B and D only
3.C, D and E only
4. B and E only

Options :

21052935977. 1
21052935978. 2
21052935979. 3
21052935980. 4

Question Number : 95 Question Id : 2105299164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following feminist theorists posited a separate realm of female experience
captured in a style of writing different from men's?

A. Elaine Showalter

B. Luce Irigaray

C. Kate Millett

D. Simone de Beauvoir

E. Helene Cixous

Choose the correct answer from the options given below:

1. A, Cand D only
2. B and D only
3.C, D and E only
4. B and E only

Options :

21052935977. 1
21052935978.2
21052935979. 3
21052935980. 4

Question Number : 96 Question Id : 2105299165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of these statements describe correctly the basic assumption of Structuralism?
A. Structuralism is concerned with signs and signification.
B. A structuralist thecry considers only verbal conventions and codes.

C. Structuralism began in the works of Jacques Derrida that influenced the 20th-
century literary criticism.

D. Structuralism challenges the long-standing belief that literature reflects a given reality.
E. All signs are arbitrary but without them we cannot comprehend reality.
Choose the correct answer from the options given below:

1. A, Cand E only
2. A, D and E only
3. A Band Conly
4. A B and E only

Options :

21052935981. 1
21052935982. 2
21052935983. 3
21052935984. 4

Question Number : 96 Question Id : 2105299165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of these statements describe correctly the basic assumption of Structuralism?
A. Structuralism is concerned with signs and signification.
B. A structuralist thecry considers only verbal conventions and codes.

C. Structuralism began in the works of Jacques Derrida that influenced the 20th-
century literary criticism.

D. Structuralism challenges the long-standing belief that literature reflects a given reality.
E. All signs are arbitrary but without them we cannot comprehend reality.
Choose the correct answer from the options given below:

1. A, Cand E only
2. A, D and E only
3. A Band Conly
4. A B and E only

Options :

21052935981. 1
21052935982. 2
21052935983. 3
21052935984. 4

Question Number : 97 Question Id : 2105299166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two terms among the following are associated with formalist criticism?
A. aura

B. actant

C. narratee

D. defamiliarization

E. foregrounding

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. B and C only
4. D and E only

Options :

21052935985. 1
21052935986. 2
21052935987. 3
21052935988. 4

Question Number : 97 Question Id : 2105299166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two terms among the following are associated with formalist criticism?
A. aura

B. actant

C. narratee

D. defamiliarization

E. foregrounding

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. B and C only
4. D and E only

Options :

21052935985. 1
21052935986. 2
21052935987. 3
21052935988. 4

Question Number : 98 Question Id : 2105299167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following believed that rhyme is not an integral part of poetry?
A. William Wordsworth

B. Horace

C. Samuel Daniel

D. Philip Sidney

Choose the most appropriate answer from the options given below

1. A and C only
2. B and D only
3. A and D only
4. D and C only



Options :

21052935989. 1
21052935990. 2
21052935991. 3
21052935992. 4

Question Number : 98 Question Id : 2105299167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following believed that rhyme is not an integral part of poetry?
A. William Wordsworth

B. Horace

C. Samuel Daniel

D. Philip Sidney

Choose the most appropriate answer from the options given below

1. A and C only
2. B and D only
3. A and D only
4. D and C only

Options :

21052935989. 1
21052935990. 2
21052935991. 3
21052935992. 4

Question Number : 99 Question Id : 2105299168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following are the two great masters of the French language that T. S Eliot
contrasts with Dryden and Milton in "The Metaphysical Poets"?

A. Francois Villon

B. Jean Racine

C. Charles Baudelaire

D. Arthur Rimbaud

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. B and C only
4. B and D only

Options :

21052935993. 1
21052935994. 2
21052935995. 3
21052935996. 4

Question Number : 99 Question Id : 2105299168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following are the two great masters of the French language that T. S Eliot
contrasts with Dryden and Milton in "The Metaphysical Poets"?

A. Francois Villon

B. Jean Racine

C. Charles Baudelaire

D. Arthur Rimbaud

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. B and C only
4. B and D only

Options :



21052935993. 1
21052935994. 2
21052935995. 3
21052935996. 4

Question Number : 100 Question Id : 2105299169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two terms from among the following are specifically linked to the work of Pierre
Bourdieu?

A. habitus

B. consciousness

C. desire

D. distinction

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. B and D only
4. Cand D only

Options :

21052935997. 1
21052935998. 2
21052935999. 3
21052936000. 4

Question Number : 100 Question Id : 2105299169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two terms from among the following are specifically linked to the work of Pierre
Bourdieu?

A. habitus

B. consciousness

C. desire

D. distinction

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. B and D only
4. Cand D only

Options :

21052935997. 1
21052935998. 2
21052935999. 3
21052936000. 4

Question Number : 101 Question Id : 2105299170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Macaulay's Minute of 1835 sought to :

A. promote European literature and science among the natives.
B. impart knowledge of English literature and science through translated texts.
C. encourage branches of native learning by more useful studies.

D. stop expenditure on the publication of oriental works and spend funds only on English
education.

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. A and C only
4. B and C only

Options :



21052936001. 1
21052936002. 2
21052936003. 3
21052936004. 4

Question Number : 101 Question Id : 2105299170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Macaulay's Minute of 1835 sought to :

A. promote European literature and science among the natives,

B. impart knowledge of English literature and science through translated texts.
C. encourage branches of native learning by more useful studies.

D. stop expenditure on the publication of oriental works and spend funds only on English
education.

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. A and C only
4. B and C only

Options :

21052936001. 1
21052936002. 2
21052936003. 3
21052936004. 4

Question Number : 102 Question Id : 2105299171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following statements are applicable to 'metalanguage'?

Itis:

A. a technical language which describes the properties of language.

B. known as a 'first-order’ language.

C. a 'second-order’ language that replaces a 'first-order' language with metaphors.
D. a 'second-order’ language.

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and D only
4. B and C only

Options :

21052936005. 1
21052936006. 2
21052936007. 3
21052936008. 4

Question Number : 102 Question Id : 2105299171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following statements are applicable to 'metalanguage'?

Itis:

A. a technical language which describes the properties of language.

B. known as a 'first-order’ language.

C. a 'second-order’ language that replaces a ‘first-order' language with metaphors.
D. a 'second-order’ language.

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and D only
4. B and C only



Options :

21052936005. 1
21052936006. 2
21052936007. 3
21052936008. 4

Question Number : 103 Question Id : 2105299172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"Hari wrote a poem on the mountains”. Which two of the fellowing are admissible statements
about the above sentence?

A. The sentence is an example of lexical ambiguity.

B. The sentence is an example of structural ambiguity.

C. The sentence involves two deep structures.

D. The sentence involves two surface structures.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. Cand D only

Options :

21052936009. 1
21052936010. 2
21052936011. 3
21052936012. 4

Question Number : 103 Question Id : 2105299172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



"Hari wrote a poem on the mountains”. Which two of the following are admissible statements
about the above sentence?

A. The sentence is an example of lexical ambiguity.

B. The sentence is an example of structural ambiguity.

C. The sentence involves two deep structures.

D. The sentence involves two surface structures.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. Cand D only

Options :

21052936009. 1
21052936010. 2
21052936011. 3
21052936012. 4

Question Number : 104 Question Id : 2105299173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following events are described in Samuels Pepys's Diary?
A. The Plague in London

B. The Great Fire of London

C. The War of Spanish Succession

D. Essex Rebellion

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and C only
4. B and D only

Options :
21052936013. 1



21052936014. 2
21052936015. 3
21052936016. 4

Question Number : 104 Question Id : 2105299173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following events are described in Samuels Pepys's Diary?
A. The Plague in London

B. The Great Fire of London

C. The War of Spanish Succession

D. Essex Rebellion

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and C only
4. B and D only

Options :

21052936013. 1
21052936014. 2
21052936015. 3
21052936016. 4

Question Number : 105 Question Id : 2105299174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following inspired the rise of the periodical essay?
A. Robert Burton

B. Francois Rabelais

C. Francis Bacon

D. Michel de Montaigne

Choose the most appropriate answer from the options given below:

1. Cand A only
2. A and B only
3. Cand D only
4. B and D only

Options :

21052936017. 1
21052936018. 2
21052936019. 3
21052936020. 4

Question Number : 105 Question Id : 2105299174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following inspired the rise of the periodical essay?
A. Robert Burton

B. Francois Rabelais

C. Francis Bacon

D. Michel de Montaigne

Choose the most appropriate answer from the options given below:

1. Cand A only
2. A and B only
3. Cand D only
4. B and D only

Options :
21052936017. 1
21052936018. 2



21052936019. 3
21052936020. 4

Question Number : 106 Question Id : 2105299175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which two of the following works does Walter Pater regard as examples of "great art” in his
essay "Style"?

A. lliad

B. The Divine Comedy

C. Les Miserables

D. Faust

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and D only
3. B and C only
4. B and D only

Options :

21052936021. 1
21052936022. 2
21052936023. 3
21052936024. 4

Question Number : 106 Question Id : 2105299175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following works does Walter Pater regard as examples of "great art” in his
essay "Style"?

A. lliad

B. The Divine Comedy

C. Les Miserables

D. Faust

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and D only
3. B and C only
4. B and D only

Options :

21052936021. 1
21052936022. 2
21052936023. 3
21052936024. 4

Question Number : 107 Question Id : 2105299176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to his essay "Civil Disobedience”, what two things did Thoreau learn from the night
he spent in jail?

A. He concluded that the State is ultimately weak.

B. He realized that captivity inspires courage.

C. He realized that the neighbours are only friends during good times.
D. He concluded that captivity brings wisdom about human affairs.
Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. A and D only
4. C and D only

Options :



21052936025. 1
21052936026. 2
21052936027. 3
21052936028. 4

Question Number : 107 Question Id : 2105299176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to his essay "Civil Disobedience”, what two things did Thoreau learn from the night
he spent in jail?

A. He concluded that the State is ultimately weak.

B. He realized that captivity inspires courage.

C. He realized that the neighbours are only friends during good times.
D. He concluded that captivity brings wisdom about human affairs.
Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. A and D only
4. Cand D only

Options :

21052936025. 1
21052936026. 2
21052936027. 3
21052936028. 4

Question Number : 108 Question Id : 2105299177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following are the titles of the sections in Thomas De Quincey's "The English
Mail - Coach"?

A. The Glory of Mobility

B. The Vision of Sudden Death

C. The Glory of Motion

D. The Vision of Unexpected Truth

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. B and C only
4. B and D only

Options :

21052936029. 1
21052936030. 2
21052936031. 3
21052936032. 4

Question Number : 108 Question Id : 2105299177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following are the titles of the sections in Thomas De Quincey's "The English
Mail - Coach"?

A. The Glory of Mobility

B. The Vision of Sudden Death

C. The Glory of Motion

D. The Vision of Unexpected Truth

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. B and C only
4. B and D only

Options :



21052936029. 1
21052936030. 2
21052936031. 3
21052936032. 4

Question Number : 109 Question Id : 2105299178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following books are explorations of the art of the novel by novelists?
A. The Brief Compass

B. The Naive and the Sentimental Novelist

C. The Visionary Company

D. Testaments Betrayed

Choose the most appropriate answer from the options given below

1. A and B only
2. A and C only
3. B and C only
4. B and D only

Options :

21052936033. 1
21052936034. 2
21052936035. 3
21052936036. 4

Question Number : 109 Question Id : 2105299178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following books are explorations of the art of the novel by novelists?
A. The Brief Compass

B. The Naive and the Sentimental Novelist

C. The Visionary Company

D. Testaments Betrayed

Choose the most appropriate answer from the options given below

1. A and B only
2. A and C only
3. B and C only
4. B and D only

Options :

21052936033. 1
21052936034. 2
21052936035. 3
21052936036. 4

Question Number : 110 Question Id : 2105299179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The lives of which of the following writers have been the subject matter of novels by Anthony
Burgess?

A. Milton
B. Marlowe
C. Shelley
D. Keats

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. B and C only
4. B and D only

Options :
21052936037. 1



21052936038. 2
21052936039. 3
21052936040. 4

Question Number : 110 Question Id : 2105299179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The lives of which of the following writers have been the subject matter of novels by Anthony
Burgess?

A. Milton

B. Marlowe

C. Shelley

D. Keats

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. B and C only
4. B and D only

Options :

21052936037. 1
21052936038. 2
21052936039. 3
21052936040. 4

Question Number : 111 Question Id : 2105299180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two rivers are mentioned by Andrew Marvell at the beginning of "To His Coy Mistress"?
A. The Ganges

B. Thames

C. Humber

D. The Jhelum

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3. A and C only
4. B and C only

Options :

21052936041. 1
21052936042. 2
21052936043. 3
21052936044. 4

Question Number : 111 Question Id : 2105299180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two rivers are mentioned by Andrew Marvell at the beginning of "To His Coy Mistress"?
A. The Ganges

B. Thames

C. Humber

D. The Jhelum

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3. A and C only
4. B and C only

Options :
21052936041. 1
21052936042. 2



21052936043. 3
21052936044. 4

Question Number : 112 Question Id : 2105299181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two poems in the following list are examples of dramatic monologue?
A. Alfred Tennyson, "Ulysses”

B. Philip Larkin, "Church Geing"

C. Carol Ann Duffy, "Medusa"

D. Katherine Philips, "A Married State”

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. A and C only

Options :

21052936045. 1
21052936046. 2
21052936047. 3
21052936048. 4

Question Number : 112 Question Id : 2105299181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two poems in the following list are examples of dramatic monologue?
A. Alfred Tennyson, "Ulysses”

B. Philip Larkin, "Church Going"”

C. Carol Ann Duffy, "Medusa”

D. Katherine Philips, "A Married State”

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. A and C only

Options :

21052936045. 1
21052936046. 2
21052936047. 3
21052936048. 4

Question Number : 113 Question Id : 2105299182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following poems are by Robert Browning?
A. "Locksley Hall"

B. "The Pied Piper of Hamelin”

C. "The Lady of Shalott”

D. "Two in the Campagna”

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. A and C only
4. B and D only

Options :
21052936049. 1
21052936050. 2



21052936051. 3
21052936052. 4

Question Number : 113 Question Id : 2105299182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following poems are by Robert Browning?
A. "Locksley Hall”

B. "The Pied Piper of Hamelin"

C. "The Lady of Shalott”

D. "Two in the Campagna”

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. A and C only
4. B and D only

Options :

21052936049. 1
21052936050. 2
21052936051. 3
21052936052. 4

Question Number : 114 Question Id : 2105299183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two of the following dramatists are associated with the Epic Theatre?
A. Fernando Arrabal

B. Bertolt Brecht

C. Arnolt Bronnen

D. James Saunders

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. B and D only

Options :

21052936053. 1
21052936054. 2
21052936055. 3
21052936056. 4

Question Number : 114 Question Id : 2105299183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following dramatists are associated with the Epic Theatre?
A. Fernando Arrabal

B. Bertolt Brecht

C. Arnolt Bronnen

D. James Saunders

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. B and D only

Options :
21052936053. 1
21052936054. 2



21052936055. 3
21052936056. 4

Question Number : 115 Question Id : 2105299184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two characters/speakers among the following exhibit the studious abstraction of
scholars?

A. Shylock

B. Hamlet

C. Il Penseroso

D. Mosca

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. A and C only

Options :

21052936057. 1
21052936058. 2
21052936059. 3
21052936060. 4

Question Number : 115 Question Id : 2105299184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which two characters/speakers among the following exhibit the studious abstraction of
scholars?

A. Shylock

B. Hamlet

C. Il Penseroso

D. Mosca

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. A and C only

Options :

21052936057. 1
21052936058. 2
21052936059. 3
21052936060. 4

Question Number : 116 Question Id : 2105299185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List 11

Terms Theorists

A. arche-ecriture I. Julia Kristeva

B. cyborg Il. Donna Haraway

C. genotext Ill. Friedrich Schleiermacher
D. hermeneutic circle V. Jacques Derrida

Choose the correct answer from the options given below:

1TA-IV,B-ILC-1,D-M
ZA-IILB-1L,C-II,D- IV
3A-IILB-ILC-IV,D-|
4 A-IV,B-I,C-1I,D-1MI

Options :



21052936061. 1
21052936062. 2
21052936063. 3
21052936064. 4

Question Number : 116 Question Id : 2105299185 Question Type

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

: MCQ Option Shuffling : No Is

List I

List 11

Terms

Theorists

4. arche-ecriture

. Julia Kristeva

B. cyborg

Il. Donna Haraway

C. genotext

1l. Friedrich Schleiermacher

0. hermeneutic circle

V. Jacques Derrida

Choose the correct answer from the options given below:

TA-IV,B-ILC-1L,D-1I
2A-ULB-1L,C-1,D-IV
JA-ULB-ILC-IV,D-1
4 A-IVB-LC-1LD-1I

Options :

21052936061. 1
21052936062. 2
21052936063. 3
21052936064. 4

Question Number : 117 Question Id : 2105299186 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Terms Theorists

A. Superreader .. Michel Foucault

B. Biopower Il. Mikhail Bakhtin

C. Bricolage Il Michael Riffaterre
D. Chronotope IV. Claude Levi-Strauss

Choose the correct answer from the options given below:

TA-ILB-ILC-IV,D-|
ZA-IILB-1L,C-IV, D-1I
3A-IV,B-LC-NLD-1I
4 A-ILB-1L,C-IV,D-HI

Options :

21052936065. 1
21052936066. 2
21052936067. 3
21052936068. 4

Question Number : 117 Question Id : 2105299186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11

Terms Theorists

A. Superreader .. Michel Foucault

B. Biopower Il. Mikhail Bakhtin

C. Bricolage lll. Michael Riffaterre
D. Chronotope IV. Claude Levi-Strauss

Choose the correct answer from the options given below:

TA-ULB-IL,C-IV,D-|
2A-ILB-L,C-IV, D-l
3A-IV,B-1LC-H,D-I
4 A-ILB-1,C-1IV,D- Il

Options :
21052936065. 1
21052936066. 2



21052936067. 3
21052936068. 4

Question Number : 118 Question Id : 2105299187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List I List 11

Critics Text

A. Horace l. A Defence of Rhyme

B. John Dryden \l. Timber: or, Discoveries
C. Samuel Daniel Il Ars Poetica

D. Ben Jonson \V. Of Dramatic Poesy

Choose the correct answer from the options given below:

TA-ILB-LC-IV,D-1l
2A-ILB-IWV,C-I,D-I|
SJA-ILB-IV,C-1,D-I
4 A-ILB-IV,C-1,D- 1l

Options :

21052936069. 1
21052936070. 2
21052936071. 3
21052936072 4

Question Number : 118 Question Id : 2105299187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Critics Text

A. Horace I. A Defence of Rhyme

B. John Dryden Il. Timber: ar, Discoveries
C. Samuel Daniel Il. Ars Poetica

D. Ben Jonson IV. Of Dramatic Poesy

Choose the correct answer from the options given below:

TA-ILB-LC-IV,D-1I
ZA-IILB-IV,C-Il,D-|
3A-IILB-IV,C-1,D-1l
4 A-ILB-IV,C-1,D- 1l

Options :

21052936069. 1
21052936070. 2
21052936071. 3
21052936072. 4

Question Number : 119 Question Id : 2105299188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List I

Author Text

A. Michel de Certeau I. Distinction

B. John Fiske Il. Reading the Romance

C. Pierre Bourdieu IIl. Understanding Popular Culture
D. Janice Radway IV. The Practice of Everyday Life

Choose the correct answer from the options given below:

TA-IV,B-LC-1,D-1
2B-1L,C-IV,D-LA-I
JA- VMB-IILC-1L,D-
4 B-ILC-1L,D-IV,A-Il

Options :
21052936073. 1
21052936074. 2



21052936075. 3
21052936076. 4

Question Number : 119 Question Id : 2105299188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

Author Text

A. Michel de Certeau .. Distinction

B. John Fiske Il. Reading the Romance

C. Pierre Bourdieu lIl. Understanding Popular Culture
D. Janice Radway IV. The Practice of Everyday Life

Choose the correct answer from the options given below:

TA-IWV,B-1LC-1,D-1
2ZB-1L,C-IV,D-LA-I
3A-VB-IILC-1LD-l
4. B-1LC-1,D-IV, A-1l

Options :

21052936073. 1
21052936074. 2
21052936075. 3
21052936076. 4

Question Number : 120 Question Id : 2105299189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Linguist Concept
A. Paul Grice I. language death

B. Edward Sapir

II. linguistic signs

C. Ferdinand de Saussure

Il linguistic relativity

D. Nancy Dorian

IV. cooperative principle

Choose the correct answer from the options given below:

TLA-LB-U,C-I,D-IV
2ZA-IV,B-IILC-II,D-I|
3A-IILB-IV,C-1,D-1l
4 A-LB-IV,C-1I,D-1

Options :

21052936077. 1
21052936078. 2
21052936079. 3
21052936080. 4

Question Number : 120 Question Id : 2105299189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11
Linguist Concept
A. Paul Grice I. language death

B. Edward Sapir

II. linguistic signs

C. Ferdinand de Saussure

Il linguistic relativity

D. Nancy Dorian

IV. cooperative principle

Choose the correct answer from the options given below:

TA-LB-U,C-1,D-IV
2A-IV,B-NILC-I,D-1|
JA-NILB-IV,C-1,D-I
4 A-IILB-IV,C-ILD-|

Options :
21052936077. 1
21052936078. 2



21052936079. 3
21052936080. 4

Question Number : 121 Question Id : 2105299190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

Word Borrowed Source Indian Language
A. mongoose . Tamil

B. loot Il. Malayalam

C. curry l1l. Hindi/ Urdu

D. betel V. Marathi

Choose the correct answer from the options given below:

TA-IWV,B-ILC-1,D-I
2A-IV,B-ILC-1,D-1l
SJA-ILB-ILC-IV,D-1|
4 A-ILB-LC-1V,D- Il

Options :

21052936081. 1
21052936082. 2
21052936083. 3
21052936084. 4

Question Number : 121 Question Id : 2105299190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Word Borrowed Source Indian Language
A. mongoose I. Tamil

B. loot Il. Malayalam

C. curry 1. Hindi/ Urdu

D. betel IV. Marathi

Choose the correct answer from the options given below:

TA-IV,B-NILC-1,D-Il
2ZA-IV,B-ILLC-1,D-1I
3A-ILB-ULC-IV,D-|
4 A-ILB-LC-IV,D-1I

Options :

21052936081. 1
21052936082. 2
21052936083. 3
21052936084. 4

Question Number : 122 Question Id : 2105299191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11

Essayist Essay

A. George Orwell I. "On the Artificial Comedy of the Last Century”
B. Michel de Montaigne|ll. "Why | Write"

C. Charles Lamb I. "A Modest Proposal”

D. Jonathan Swift IV. "On the Cannibals”

Choose the correct answer from the options given below:

TA-NILB-IV,C-IIl,D-I
2A-1LB-IV,C-1,D-1
JA-IVB-NILC-I,D-|
4 A-ILB-IILC-1,D-V

Options :
21052936085. 1
21052936086. 2



21052936087. 3
21052936088. 4

Question Number : 122 Question Id : 2105299191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List Il

Essayist Essay

A. George Orwell .. "On the Artificial Comedy of the Last Century”
B. Michel de Montaigne|ll. "Why | Write’

C. Charles Lamb ll. "A Modest Proposal"

D. Jonathan Swift V. "On the Cannibals”

Choose the correct answer from the options given below:

TA-NILB-IV,C-IIl,D-I
2A-1LB-IV,C-1,D-1l
JA-IV,B-NILC-I,D-|
4 A-ILB-ILC-1,D-IV

Options :

21052936085. 1
21052936086. 2
21052936087. 3
21052936088. 4

Question Number : 123 Question Id : 2105299192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
Author Text
A. Thomas Pynchon . G.

B. Howard Jacobson Il Vv

C. Anthony Burgess M. J

D. John Berger V. M/AF

Choose the correct answer from the options given below:

TA-ILB-IM,C-1,D-1I
ZA-ILB-IL,C-IV,D-|
3A-ILB-LC-1,D-IV
4 A-IVB-LC-1,D-Il

Options :

21052936089. 1
21052936090. 2
21052936091. 3
21052936092. 4

Question Number : 123 Question Id : 2105299192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List Il
Author Text
A. Thomas Pynchon . G.

B. Howard Jacobson Il v

C. Anthony Burgess M. J

D. John Berger . M/F

Choose the correct answer from the options given below:

TA-ILB-IM,C-1,D-1
ZA-1LB-IL,C-IV,D-|
JA-ILB-U,C-1L,D-IV
4 A-IV,B-II,C-1,D-1l

Options :
21052936089. 1
21052936090. 2



21052936091. 3
21052936092. 4

Question Number : 124 Question Id : 2105299193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

Lines Poems

A."Monuments of unaging intellect’ . "Leda and the Swan"

B. "In the foul rag-and-bone shop of the heart” |Il. "Adam’s Curse”

C. "So mastered by the brute blood of the air” |lll. "Sailing to Byzantium"

D. "As weary-hearted as that hollow moon’ IV. "The Circus Animals’ Desertion’

Choose the correct answer from the options given below:

TA-U,B-IW,C-I,D-]|
2A-ILB-1L,C-IV,D-I
JA-ILB-IV,C-1,D-I
4 A-ILB-LC-1V,D- Il

Options :

21052936093. 1
21052936094. 2
21052936095. 3
21052936096. 4

Question Number : 124 Question Id : 2105299193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Lines Poems

A."Monuments of unaging intellect” l. "Leda and the Swan"

B. "In the foul rag-and-bone shop of the heart"” |Il. "Adam’s Curse"”

C. "So mastered by the brute blood of the air” |lll. "Sailing to Byzantium”

D. "As weary-hearted as that hollow moon” IV. "The Circus Animals' Desertion”

Choose the correct answer from the options given below:

TA-IILB-IV,C-Il,D-|
ZA-IILB-1L,C-IV,D-Ill
3A-IILB-IV,C-1,D-1l
4 A-ILB-LC-IV,D-1I

Options :

21052936093. 1
21052936094. 2
21052936095. 3
21052936096. 4

Question Number : 125 Question Id : 2105299194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List Il

Author Work

A. John Keats I. Alastor

B. William Wordsworth Il. Songs of Experience
C. P. B. Shelley . Lamia

D. William Blake V. The Excursion

Choose the correct answer from the options given below:

TA-UILB-L,C-IV,D-I
2ZA-ILB-IV,C-1D-1
3A-1L,B- MC-IILD-|I
4 A-IV,B-ILC-1,D- M

Options :
21052936097. 1
21052936098. 2



21052936099. 3
21052936100. 4

Question Number : 125 Question Id : 2105299194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List I List 11

Author Work

A. John Keats . Alastor

B. William Wordsworth Il. Songs of Experience
C. P. B. Shelley Ill. Lamia

D. William Blake V. The Excursion

Choose the correct answer from the options given below:

TA-UB-L,C-IV,D-1
2A-ILB-IWV,C-1,D-1
3A-1L,B- MC-IILD-|l
4 A-IV,B-ILC-1,D- M

Options :

21052936097. 1
21052936098. 2
21052936099. 3
21052936100. 4

Question Number : 126 Question Id : 2105299195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following terms in the chronological order of emergence:
A. Heresy of Paraphrase

B. Stream of Consciousness

C. Practical Criticism

D. Defamiliarization

Choose the correct answer from the options given below:

1.D,B,C A
2B DA C
3.B,D0,CA
4.D,C B A

Options :

21052936101.
21052936102.
21052936103.
21052936104.

A WO~

Question Number : 126 Question Id : 2105299195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in the chronological order of emergence:
A. Heresy of Paraphrase

B. Stream of Consciousness

C. Practical Criticism

D. Defamiliarization

Choose the correct answer from the options given below:

1.D,B C A
2B, D A C
3.B.D,C A
4D, C B A

Options :
21052936101. 1
21052936102. 2



21052936103. 3
21052936104. 4

Question Number : 127 Question Id : 2105299196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following critical works in their chronological order of publication:
A. "Preface to Lyrical Ballads"

B. A Defence of Rhyme

C. "Life of Cowley"

D. "The Frontiers of Criticism"

Choose the correct answer from the options given below:

1.A C, Band D
2B A CandD
3.B,CAandD
4. C A DandB

Options :

21052936105. 1
21052936106. 2
21052936107. 3
21052936108. 4

Question Number : 127 Question Id : 2105299196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following critical works in their chronological order of publication:
A. "Preface to Lyrical Ballads"

B. A Defence of Rhyme

C. "Life of Cowley"

D. "The Frontiers of Criticism"

Choose the correct answer from the options given below:

1.A,C, Band D
2B A Cand D
3.B,CAandD
4. C A DandB

Options :

21052936105. 1
21052936106. 2
21052936107. 3
21052936108. 4

Question Number : 128 Question Id : 2105299197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication:
A. Aspects of the Theory of Syntax

B. Course in General Linguistics

C.Semiotics and the Philosophy of Language

D. How to Do Things with Words

Choose the correct answer from the options given below:

1.D,B A C
2.CBAD
3.B,.D, A C
4B A DC

Options :
21052936109. 1
21052936110. 2



21052936111. 3
21052936112. 4

Question Number : 128 Question Id : 2105299197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication:
A. Aspects of the Theory of Syntax

B. Course in General Linguistics

C.Semiotics and the Philosophy of Language

D. How to Do Things with Words

Choose the correct answer from the options given below:

1.D,B, A C
2C B AD
3.B.0D,AC
4B A D, C

Options :

21052936109. 1
21052936110. 2
21052936111. 3
21052936112. 4

Question Number : 129 Question Id : 2105299198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the chronological order of publication:
A. Advancement of Learning

B. The Origin of Species

C. On Heroes and Hero Worship

D. The Lives of the Poets

Choose the correct answer from the options given below:

1.D, A CB
2D A B C
3.ADCB
4 A D B C

Options :

21052936113. 1
21052936114. 2
21052936115.3
21052936116. 4

Question Number : 129 Question Id : 2105299198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication:
A. Advancement of Learning

B. The Origin of Species

C. On Heroes and Hero Worship

D. The Lives of the Poets

Choose the correct answer from the options given below:

1.D,A CB
2.D A B, C
33A.D,CB
4 A D B C

Options :
21052936113. 1
21052936114. 2



21052936115.3
21052936116. 4

Question Number : 130 Question Id : 2105299199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following 18"-century magazines in the chronological order of publication:
A. The Critical Review

B. The Monthly Review

C. The Gentleman's Magazine

D. The Rambler

Choose the correct answer from the options given below:

1.A D, B C
2D A B C
3.BACD
4.C B D A

Options :

21052936117. 1
21052936118. 2
21052936119. 3
21052936120. 4

Question Number : 130 Question Id : 2105299199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following 18"-century magazines in the chronological order of publication:
A. The Critical Review

B. The Monthly Review

C. The Gentleman's Magazine

D. The Rambler

Choose the correct answer from the options given below:

1.A D, B, C
2D A B C
3.BACD
4.C B D A

Options :

21052936117. 1
21052936118. 2
21052936119. 3
21052936120. 4

Question Number : 131 Question Id : 2105299200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication:
A. Crome Yellow

B. Sons and Lovers

C. Mrs Dalloway

D. A Portrait of the Artist as @ Young Man

Choose the correct answer from the options given below:

1.B.A D, C
2. A B D, C
3ACBD
4B DA C

Options :
21052936121. 1
21052936122.2



21052936123. 3
21052936124. 4

Question Number : 131 Question Id : 2105299200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication:
A. Crome Yellow

B. Sons and Lovers

C. Mrs Dalloway

D. A Portrait of the Artist as a Young Man

Choose the correct answer from the options given below:

1.B, A D, C
2 A B DC
3.ACBD
4B, DA C

Options :

21052936121.
21052936122.
21052936123.
21052936124.

AW N

Question Number : 132 Question Id : 2105299201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following women novelists in the chronological order (by date of birth):
A. Anne Bronte

B. Jane Austen

C. Ann Radcliffe

D. Fanny Burney

E. Maria Edgeworth

Choose the correct answer from the options given below:

1.B,A D CE
2C D B EA
3.0,CEBA
4 A B CED

Options :

21052936125. 1
21052936126. 2
21052936127.3
21052936128. 4

Question Number : 132 Question Id : 2105299201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following women novelists in the chronological order (by date of birth):
A. Anne Bronte

B. Jane Austen

C. Ann Raddliffe

D. Fanny Burney

E. Maria Edgeworth

Choose the correct answer from the options given below:

1.B,A D CE
2.C D, B EA
3.0,C,EBA
4 A BCED



Options :

21052936125. 1
21052936126. 2
21052936127. 3
21052936128. 4

Question Number : 133 Question Id : 2105299202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following authors in the chronological order of their birth:
A. Oscar Wilde

B. William Langland

C. Geoffrey Chaucer

D. John Dryden

E. Alexander Pope

Choose the correct answer from the options given below:

1.B,C,D,E A
2ZA B CED
3.BCDAE
4. C B A DE

Options :

21052936129. 1
21052936130. 2
21052936131. 3
21052936132. 4

Question Number : 133 Question Id : 2105299202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following authors in the chronological order of their birth:
A. Oscar Wilde

B. William Langland

C. Geoffrey Chaucer

D. John Dryden

E. Alexander Pope

Choose the correct answer from the options given below:

1.B,C,D,E A
2A B CED
3.BCDAE
4 CB ADE

Options :

21052936129. 1
21052936130. 2
21052936131.3
21052936132. 4

Question Number : 134 Question Id : 2105299203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following plays in their chronological order :
A. The Country Wife

B. Cymbeline

C. The Spanish Tragedy

D. The Rivals

Choose the correct answer from the options given below:

1.B,ACD
2B CD A
3.3CBAD
4 CABD

Options :
21052936133. 1



21052936134. 2
21052936135. 3
21052936136. 4

Question Number : 134 Question Id : 2105299203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following plays in their chronological order :
A. The Country Wife

B. Cymbeline

C. The Spanish Tragedy

D. The Rivals

Choose the correct answer from the options given below:

1.B.ACD
2B CD A
3.CBAD
4 CABD

Options :

21052936133. 1
21052936134. 2
21052936135. 3
21052936136. 4

Question Number : 135 Question Id : 2105299204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following plays in the chronelogical order of publication:
A. All for Love

B. Veenice Preserved

C.The School for Scandal

D. The Country Wife

Choose the correct answer from the options given below:

1.B,C,AD
2D A B C
3.C,B D A
4 A D CB

Options :

21052936137. 1
21052936138.2
21052936139. 3
21052936140. 4

Question Number : 135 Question Id : 2105299204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following plays in the chronelogical order of publication:
A. All for Love

B. Veenice Preserved

C.The School for Scandal

D. The Country Wife

Choose the correct answer from the options given below:

1.B,.CAD
2.D A B, C
3.CB DA
4 A D CB

Options :
21052936137. 1
21052936138.2



21052936139. 3
21052936140. 4

Question Number : 136 Question Id : 2105299205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are twao statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Research methods are a range of tools that are used for different types of
inguiry.
Reason R: The tools used in research are products of the situations in which they are applied.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052936141. 1
21052936142. 2
21052936143. 3
21052936144. 4

Question Number : 136 Question Id : 2105299205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are twao statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Research methods are a range of tools that are used for different types of
inquiry.
Reason R: The tools used in research are products of the situations in which they are applied.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true



Options :

21052936141. 1
21052936142.2
21052936143. 3
21052936144. 4

Question Number : 137 Question Id : 2105299206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Signs are never neutral or innocent.

Reason R: In all cases signs are organized into systems that convey some meaning.
In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052936145. 1
21052936146. 2
21052936147. 3
21052936148. 4

Question Number : 137 Question Id : 2105299206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Signs are never neutral or innocent.

Reason R: In all cases signs are organized inte systems that convey some meaning.
In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052936145. 1
21052936146. 2
21052936147. 3
21052936148. 4

Question Number : 138 Question Id : 2105299207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: Consumption is an outcome of self-interest and a maximization of personal
pleasure.

Statement II: There are strong correlations between social status and such things as housing
styles, musical tastes and food preferences.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement 1l is true

Options :

21052936149. 1
21052936150. 2
21052936151. 3
21052936152. 4



Question Number : 138 Question Id : 2105299207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: Consumption is an outcome of self-interest and a maximization of personal
pleasure.

Statement II: There are strong correlations between social status and such things as housing
styles, musical tastes and food preferences.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement [l is true

Options :

21052936149. 1
21052936150. 2
21052936151. 3
21052936152. 4

Question Number : 139 Question Id : 2105299208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: The Crientalists in British India were not sympathetic towards India's ancient
learning.

Statement II: William Jones thought that in "imagination”, "ratiocination”, and philosophy,
Indians were by no means inferior to Europeans.

In light of the above statements, choose the correct answer from the opticns given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement Il is true

Options :
21052936153. 1



21052936154. 2
21052936155. 3
21052936156. 4

Question Number : 139 Question Id : 2105299208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: The Crientalists in British India were not sympathetic towards India’s ancient
learning.

Statement II: William Jones thought that in "imagination”, "ratiocination”, and philosophy,
Indians were by no means inferior to Europeans.

In light of the above statements, choose the correct answer from the opticons given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement [l is true

Options :

21052936153. 1
21052936154.2
21052936155.3
21052936156. 4

Question Number : 140 Question Id : 2105299209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The introduction of English in India was primarily for the benefit and
consolidation of British power.

Reason R: English catered to the social and economic aspirations of the emerging middle
class and urban elites in India.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052936157. 1
21052936158. 2
21052936159. 3
21052936160. 4

Question Number : 140 Question Id : 2105299209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The introduction of English in India was primarily for the benefit and
consolidation of British power.

Reason R: English catered to the social and economic aspirations of the emerging middle
class and urban elites in India.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :
21052936157. 1



21052936158. 2
21052936159. 3
21052936160. 4

Sub-Section Number : 2
Sub-Section Id : 210529352
Question Shuffling Allowed : Yes

Question Id : 2105299210 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 143)
Question Label : Comprehension

Read the given passage and answer the questions that follow
Daybreak

At dawn she lay with her profile at that angle

Which, sleeping, seems the stone face of an angel;
Her hair a harp the hand of a breeze follows

To play, against the white cloud of the pillows.

Then in a flush of rose she woke, and her eyes were open,
Swimming with blue through the rose flesh of dawn.
From her dew of lips, the drop of one word

Fell, from a dawn of fountains, when she murmured
‘Darling,’ — upon my heart the song of the first bird.
‘My dream glides in my dream,’ she said, ‘come true.
| waken from you to my dream of you.’

O, then my waking dream dared to assume

The audacity of her sleep. Our dreams

Flowed into each other's arms, like streams.

- Stephen Spender

Sub questions

Question Number : 141 Question Id : 2105299211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following best describes the lady's face as "At dawn she lay..." asleep?

1. Her face appears to be that of a stone sculpture’s.

2. The side-view of her face appears to be that of a sculpted angel's.
3. Her face appears to be that of a stone-angel.

4. The side-view of her face appears to be that of an angel's.

Options :

21052936161. 1
21052936162. 2
21052936163. 3
21052936164. 4

Question Number : 142 Question Id : 2105299212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

The Item What it is an example of
A. 'Her hair ' . player

B. 'pillows’ . 'a harp'

C. 'breeze lIl. ‘rose’

D. 'cheeks' IV. "cloud’

Choose the correct answer from the options given below:

TA-LB-ILC-IV,D-1l
2ZA-ILB-LC-I,D-IV
JANB-IV,C-1,D-1I

4 A-IV,B-I,C-1,D-1l

Options :

21052936165. 1
21052936166. 2
21052936167. 3
21052936168. 4

Question Number : 143 Question Id : 2105299213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Item What it is an example of
A. 'Her hair a harp’ . Simile

B. ‘the hand of a breeze' |Il. Metaphor

C. 'seems the stone face’ |lll. Oxymoron

D. 'my waking dream'  |IV. Synecdoche

Choose the correct answer from the options given below:

TA-ILB-IVC-I,D-1I

2ZA-IV,B-ILC-II,D-I
3A-IV,B-LC-ILD- |
4 A-,B-IV,C-1I,D-MI

Options :

21052936169. 1
21052936170. 2
21052936171. 3
21052936172. 4

Question Id : 2105299210 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 143)
Question Label : Comprehension



Read the given passage and answer the questions that follow
Daybreak

At dawn she lay with her profile at that angle

Which, sleeping, seems the stone face of an angel;
Her hair a harp the hand of a breeze follows

To play, against the white cloud of the pillows.

Then in a flush of rose she woke, and her eyes were open,
Swimming with blue through the rose flesh of dawn.
From her dew of lips, the drop of one word

Fell, from a dawn of fountains, when she murmured
'‘Darling,' — upon my heart the song of the first bird.
'‘My dream glides in my dream,’ she said, 'come true.
| waken from you to my dream of you.’

O, then my waking dream dared to assume

The audacity of her sleep. Our dreams

Flowed into each other's arms, like streams.

- Stephen Spender

Sub questions

Question Number : 141 Question Id : 2105299211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following best describes the lady's face as "At dawn she lay..." asleep?

1. Her face appears to be that of a stone sculpture’s.

2. The side-view of her face appears to be that of a sculpted angel's.
3. Her face appears to be that of a stone-angel.

4. The side-view of her face appears to be that of an angel's.

Options :

21052936161. 1
21052936162. 2
21052936163. 3
21052936164. 4

Question Number : 142 Question Id : 2105299212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

The Item What it is an example of
A. 'Her hair . player

B. 'pillows' Il. ‘a harp'

C. 'breeze . ‘rose’

D. 'cheeks' IV. ‘cloud'

Choose the correct answer from the options given below:

TA-LB-ILC-IV,D-lll
ZA-IILB-1L,C-WD-IV
3A-ILB-IV,C-1,D-1

4 A-IVB-LC-L,D-I

Options :

21052936165. 1
21052936166. 2
21052936167. 3
21052936168. 4

Question Number : 143 Question Id : 2105299213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List 1l

List | List Il
Item What it is an example of
A. 'Her hair a harp' . Simile

B. ‘the hand of a breeze' |Il. Metaphor

C. 'seems the stone face’ |lll. Oxymoron

D. 'my waking dream’  |IV. Synecdoche

Choose the correct answer from the options given below:

TAILB-IV,C-1,D-Il

2A-IV,B-IILC-1I,D-I
3A-IVB-IILC-I,D- |
4 A-1,LB-IV,C-1,D- Il

Options :
21052936169. 1
21052936170. 2



21052936171. 3
21052936172. 4

Sub-Section Number : 3
Sub-Section Id : 210529353
Question Shuffling Allowed : Yes

Question Id : 2105299214 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (144 to 145)
Question Label : Comprehension

Read the given passage and answer the questions that follow

Logic cannot have any empirical part; that is, a part in which the universal and necessary laws
of thought should rest on grounds taken from experience; otherwise it would not be logic, i.e,
a canon for the understanding or the reason, valid for all thought, and capable of
demonstration. Natural and moral philesophy, on the contrary, can each have their empirical
part, since the former has to determine the laws of nature as an object of experience; the
latter, the laws of the human will, so far as it is affected by nature: the former, however, being
laws according to which everything does happen; the latter, laws according to which
everything ought to happen. Ethics, however, must also consider the conditions under which

what ought to happen frequently does not. Immanuel Kant

Sub questions

Question Number : 144 Question Id : 2105299215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



"Logic cannot have any empirical part”, because:

A. laws of thought are subjective.

B. it propounds laws whose applicability can be shown.

C. its laws are valid for all thought.

D. its laws are valid for everyone's experience.

Choose the most appropriate answer from the options given below:

1. A and D only
2. B and C only
3. A and C only
4. B and D only

Options :

21052936173. 1
21052936174.2
21052936175.3
21052936176. 4

Question Number : 145 Question Id : 2105299216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Based on the given passage which two of the following statements are correct?
A. For natural philosophy, nature influences the laws.

B. For maral philosophy, nature is to be experienced.

C. Natural philosophy does not describe how things actually do happen.

D. Moral philosophy accounts for what should be.

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. Cand D only
4. A and D only

Options :
21052936177. 1



21052936178. 2
21052936179. 3
21052936180. 4

Question Id : 2105299214 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (144 to 145)
Question Label : Comprehension

Read the given passage and answer the questions that follow

Logic cannot have any empirical part; that is, a part in which the universal and necessary laws
of thought should rest on grounds taken from experience; otherwise it would not be logic, i.e,
a canon for the understanding or the reason, valid for all thought, and capable of
demonstration. Natural and moral philesophy, on the contrary, can each have their empirical
part, since the former has to determine the laws of nature as an object of experience; the
latter, the laws of the human will, so far as it is affected by nature: the former, however, being
laws according to which everything does happen; the latter, laws according to which
everything ought to happen. Ethics, however, must also consider the conditions under which
what ought to happen frequently does not. Immanuel Kant

Sub questions

Question Number : 144 Question Id : 2105299215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



"Logic cannot have any empirical part”, because:

A. laws of thought are subjective.

B. it propounds laws whose applicability can be shown.

C. its laws are valid for all thought.

D. its laws are valid for everyone's experience.

Choose the most appropriate answer from the options given below:

1. A and D only
2. B and C only
3. A and C only
4. B and D only

Options :

21052936173. 1
21052936174.2
21052936175.3
21052936176. 4

Question Number : 145 Question Id : 2105299216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Based on the given passage which two of the following statements are correct?
A. For natural philosophy, nature influences the laws.

B. For maral philosophy, nature is to be experienced.

C. Natural philosophy does not describe how things actually do happen.

D. Moral philosophy accounts for what should be.

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. Cand D only
4. A and D only

Options :
21052936177. 1



21052936178. 2
21052936179. 3
21052936180. 4

Sub-Section Number : 4
Sub-Section Id : 210529354
Question Shuffling Allowed : Yes

Question Id : 2105299217 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 148)
Question Label : Comprehension

Read the given passage and answer the questions that follow

And the creature run from the cur?

There thou mightst behold the great image of authority: a dog's obeyed in office. —
Thou rascal beadle, hold thy bloody hand!

Why dost thou lash that whore? Strip thine own back;

Thou hotly lust’st to use her in that kind

For which thou whipp'st her. The usurer hangs the cozener.

Through tatter'd clothes small vices do appear;

Robes and furr'd gowns hide all. Plate sin with gold,

And the strong lance of justice hurtless breaks;

Arm it in rags, a pigmy's straw doth pierce it.

King Lear

Sub questions

Question Number : 146 Question Id : 2105299218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who speaks these lines and to whom?

1. Edgar to Lear

2. Goneril to Edgar
3. Lear to Gloucester
4. Gloucester to Lear

Options :

21052936181. 1
21052936182. 2
21052936183. 3



21052936184. 4

Question Number : 147 Question Id : 2105299219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In the passage, the church officer is asked to whip his own back rather than the prostitute's
because:

1. as a religious man he should punish himself for others’ sins.
2. he at one time had lusted after her.

3. men like him make them prostitutes.

4. he does not have the authority to whip a woman.

Options :

21052936185. 1
21052936186. 2
21052936187. 3
21052936188. 4

Question Number : 148 Question Id : 2105299220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The two sentences in the lines from "Through tatter'd clothes..." to "...straw doth pierce it" deal
with two foibles, (i) vice and (ii) sin. About these two, the speaker says that

1. Vice afflicts all but sin afflicts only the weak.

2. Sin afflicts all but vice afflicts only the strong.

3. Sin and vice are seen in both the weak and the strong.

4. Sin and vice are palpable in the weak and impalpable in the strong.

Options :

21052936189. 1
21052936190. 2
21052936191. 3
21052936192. 4

Question Id : 2105299217 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 148)
Question Label : Comprehension



Read the given passage and answer the questions that follow

And the creature run from the cur?

There thou mightst behold the great image of authority: a dog's obeyed in office. —
Thou rascal beadle, hold thy bloody hand!

Why dost thou lash that whore? Strip thine own back;

Thou hotly lust’st to use her in that kind

For which thou whipp'st her. The usurer hangs the cozener.

Through tatter'd clothes small vices do appear;

Robes and furr'd gowns hide all. Plate sin with gold,

And the strong lance of justice hurtless breaks;

Arm it in rags, a pigmy’s straw doth pierce it.

King Lear

Sub questions

Question Number : 146 Question Id : 2105299218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who speaks these lines and to whom?

1. Edgar to Lear

2. Goneril to Edgar
3. Lear to Gloucester
4. Gloucester to Lear

Options :

21052936181. 1
21052936182.2
21052936183. 3
21052936184. 4

Question Number : 147 Question Id : 2105299219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In the passage, the church officer is asked to whip his own back rather than the prostitute's
because:

1. as a religious man he should punish himself for others’ sins.
2. he at one time had lusted after her.

3. men like him make them prostitutes.

4. he does not have the authority to whip a woman.

Options :

21052936185. 1
21052936186. 2
21052936187. 3
21052936188. 4

Question Number : 148 Question Id : 2105299220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The two sentences in the lines from "Through tatter'd clothes..." to "...straw doth pierce it" deal
with two faibles, (i) vice and (ii) sin. About these two, the speaker says that

1. Vice afflicts all but sin afflicts only the weak.

2. Sin afflicts all but vice afflicts only the strong.

3. Sin and vice are seen in both the weak and the strong.

4. Sin and vice are palpable in the weak and impalpable in the strong.

Options :

21052936189. 1
21052936190. 2
21052936191. 3
21052936192. 4

Sub-Section Number : 5
Sub-Section Id : 210529355
Question Shuffling Allowed : Yes

Question Id : 2105299221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (149 to 150)
Question Label : Comprehension



Read the given passage and answer the questions that follow

The surgecon deposited it in her arms. She imprinted her cold, white lips passionately on its
forehead; passed her hands over her face; gazed wildly around; shuddered; fell back — and
died. They chafed her breast, hands, temples; but the blood had stopped forever. They talked
of hope and comfort. They had been strangers too long. ‘It's all over, Mrs. Thingummy!', said
the surgeon at last.

Dickens, Oliver Twist

Sub questions

Question Number : 149 Question Id : 2105299222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the expression, "passed her hands over her face", the 'face’ is of:

1. the lady surgeon
2. the child

3. the nurse

4. the patient

Options :

21052936193. 1
21052936194. 2
21052936195. 3
21052936196. 4

Question Number : 150 Question Id : 2105299223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The implication of “they had been strangers too long” is:

1. Those who spoke of 'hope and comfort’ had been strangers too long.

2. 'Hope' had been stranger to 'comfort’ for too long.

3. 'Hope and comfort’ had been stranger to the patient too long.

4. 'Hope and comfort’ had been strangers to the surgeon, nurse and the patient too long.

Options :

21052936197. 1
21052936198. 2
21052936199. 3
21052936200. 4



Question Id : 2105299221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (149 to 150)
Question Label : Comprehension

Read the given passage and answer the questions that follow

The surgeon deposited it in her arms. She imprinted her cold, white lips passionately on its
forehead; passed her hands over her face; gazed wildly around; shuddered; fell back — and
died. They chafed her breast, hands, temples; but the bloed had stopped forever. They talked
of hope and comfort. They had been strangers too long. ‘It's all over, Mrs. Thingummy!', said
the surgeon at last.

Dickens, Oliver Twist

Sub questions

Question Number : 149 Question Id : 2105299222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the expression, "passed her hands over her face”, the 'face’ is of:

1. the lady surgeon
2. the child

3. the nurse

4. the patient

Options :

21052936193. 1
21052936194. 2
21052936195. 3
21052936196. 4

Question Number : 150 Question Id : 2105299223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The implication of "they had been strangers too long” is:

1. Those who spoke of "'hope and comfort’ had been strangers too long.

2. 'Hope' had been stranger to ‘comfort’ for too long.

3. 'Hope and comfert' had been stranger to the patient too long.

4. 'Hope and comfort' had been strangers to the surgecn, nurse and the patient too long.



Options :

21052936197. 1
21052936198. 2
21052936199. 3
21052936200. 4



